
�

����� ����	�
����

�� ���������
��	
������


�	
����������������
����
��	
�����
�

�
���
���������
�


�	


��
�
�������


����	����	
��

����	��
����
���

������������� 

����������������
���
���������
�����
������������
�����
��		
	�����
����������������
���
����������������
���
����������������
���
����������������
���
����������������
���
����������������
���
����������������
� �
����������������
�!�
����������������
�
�
����������������
���

�������������!

���"
������#

$��������

����
���

����������

�
���

%����������

��	��������
��
&������

���������	
������

�'���(�%��$)*�&%(%**'�

�'+%,%)�

����������������-��	�����
�

�
����

��	��������
����������

���������"����#$��%&#'&�())*�

����
������
"���'&�*&��*��*)*���%$�$�$''&�$�*�����+$�&��*���,*&���

��%$#'&�-&#'$�����.�'&#$�/$��&����+�$'��&�,$'#$��*0�

��������"�
�������		�1���
��
��0����

����	������
�"���%��
��
�"�%*##��2�����*33$�&��(��

��

������4�������������
�

/��
�������5����
����

��

��

&'���.%'�

��

������	��������
�
	����
/��

6
070�

��

��0����������1�

6%���8�����$��
70�

��

��&
������2�
�����
���	�/�

6'0�0�$����70�

��

��)�
�������
�������	�����
�
���������3�������	
����

6��8��
�%������		�70�

��

*�����4��	�

(9���
����
��

,
99:��8��
��

�#����8
���
�

�

�����

$���


,
99:��8�
8�������
�
;�
��99���

������;�
#�<�9��
���

�5��6������
�

����
�����
=�9��
�����
�������

Page 1 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



����	������
�
������
7�%�5�"
�����
�	/�

6$�������9����70�

��

��+�
���87������
�
���/�

6
8970�

��

�����
�7�����
�
-��������///�

6��<����8���
���70�

��

���9�-
������/�

6$��9��>
�����:��	70�

��

��:��	����������������/�

6#�����������70�

��

����������������/�

6
��70�

��

�����������////6��������������������
��5�/�

63
����
�$��
70�

��

��&
�����������6������������	
�����������������
����/�

6+�
�/
����,
�������
70�

��

���
��5;������"�/�

6&�?
��,
��@70�

��

���
��5;������
���/�

6��8��%�		�70�

��

��.
	����������/�

6+��9�����%������		�70�

��

��'�
��������
���������<����
������������
�=�
�����������
�=/�

6,
9A�
���#��
�����70�

��

Page 2 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



���5
�����6��""
����������������
����

6�
�=
�����/��8��
70�

��

���=�����=��"�����
���
	���*�����

6#
55
����'�
�
��70�

��

�����6������	������4���������1�

6+���
��70�

��

��&����������������������"��$�/��/��

6�����
70�

������
�������
7��5
����������
��������
�6>�

6+
��
���,�������70�

��

��

��

��

������	��������
�
	����
/�

��

3BC������������	��?����<
�<���
��������<���
��������8��A��9�������	�
���0��B��8�
���?�����8�������9�
�������
���
8��A����?���99��
��
����<
�
��
��
��<���
�8���
����
��=��D����
�=�<��
�8��8�5��8����A��9�
��8�
0�/������
E
�8�
��� ��� 9�
��
F� 9�� �?��8�� 
� %���<�
� ��� ���=�<��� 8
�� ������� E�
� =��
� ����������
��F� �?�� ?
�
���9���
��� ��� E/
��5�9��� 8��� �
=��
����� 8���
� ����9���	
F0� *�� ���
��
���� ��� ��5���9��� 
<��� ��<
���
�
����9���
��=�� 8�� �
��<���
� �?
� �����
��� ���� �
� 9�
� 
99��	
0� 3�9G� 
� �
��
��� ��9����� 
� E<���F� 8���
E��<���
��
��F������#��
���=��/���
������������B��
�
������
����9���
�����
	���
����
���,��9�8�����8���
�
<����������������
��9����8�<��� 
==��
����8�<��� 
��?�������� ��8���8���������������
��9��0�(�
����=
����
��H��9��������5�99����9�<�����?��� 
��8���<�����8������
��
�������������99
�����
�8���B�8�
��?����99
�
�
9���������,
�9����
�E�������8����
=��
�����8���
�����9���	
�������5��	
�9���
������9�������
���=
�
����,
�9�F0�3?�������9�����
=����9�
���8���
��99����9������8����H����5�����������
=������<����=���F8
�
9����	�
��F�������8��E������
���8���9�<�����FC�
�����8���
�3���
<��
�8�����<�����
99����
�������?�
�����

������8���������?
����8���9��
�����������������8�	�����9������5��?����
���5��		�������
		��8�����������8���
�
8
����
<<���0�3?����� �
=��������������
���
88��
����<<��
��������������
���
��D�8
�9�?�
���
������99
�
=�=����9����8���B����<�
����
��=
�8�����9��������������
������
���0�
�������9�
���
99����
���������=�������A��9�������	�
����=������99���������9�������������9������
�	
0�
������9G� �
���9��
���
99��8���<������?��� 
�'������?
����
8��
������9���������������������
��� �
�9�
�
��9�9����������D����� ��� 9������ ����� 
�����5����	�
��� ������� 
� %���<�
�� ��� 5��	�� =�=�� 8����� ���5�99������

���
��� 
� A������ 8���
� 9����	
� �� 8���
� ���
��=��D� ��
���
=
��� ��� ����� �
��5�9��� ���� �� ���5�99����9���
8����
=������<����=�0�(�
��
��
�	
��9����
��0�

0�

Page 3 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



��
��
�������9�

��

��0����������1�

0��
������.�1�

-&#)���(,*���&��-*�*#���&�/�*�*�'$/,*�3(,*I�
$B����	�
����B
�����

�����
������
��		
	��������������?��E�����
�����F0�
*��3��
�C��B
����8���E/�*��$F�6��
�����
���
����9����
�����'�
�
��7���B
����
������		
��
?��C��<<�����
8�9��99����0�
,
����?��9���:�������9����9���
�*�'#��$'�8�������������55���
�������9���6�
�3��
�C�9��������H�.��3��
7�9��
9�
� 
���99�� ��� =�=
��� 8��
�����"� ����?J� ���� 9�9�������� �B
���� 8��� '���� 68
���9�7�� 8��� ���������
6�
���=�7�� 8��� /
�
��� 6��<��� �� 
���8��9�7�� 8��� +
���� 6�?�� ��� ����9��� ���� A�
���� ?�� ������9��� 9��
��������
�������
��9��
7�����<��� 
����8��� �������8���
�5�������8���
�<��� ��8�����9��;���� 
�<�������
�
����E9��9�����F�9���
����D�8�55�9
������
��?�������9�
�9�<����I�
,��� �B&�(�����

��C� �B
����8���8��5���������8�5��8����A��9���9��
��8��
�����
���5����8
�����������8��
�9���	����"�A�
��?��9��9�����������<
�8�8��?��D��
��8��5������
�����9���<<�������������?����==�
���������
��9�
�9�<����0�
*��*�<?������
�����

��C� �B
����8���<�
�8����������9��
��
�A������8����
<����"������9�
������
��?��
����
�
�����8��<�
����8��������A��9�����������������5�99����9����?��?
����
���=�
�����������8���
����5
���������
�==�
������ �������8��9�
��0� ��������<
�������
99��	
�8��������<�����9�
������?������������
<��
�8���
�
�������5��A����
���9��
<<���������?��5
���8�9��
�����
<�
���8
�9�8���������<����8�����������00�
*��$����
�����

��C��B
����8������
�������������D����=��
���
��?�������9�
�8
��?��
����
����������8��
�
��<
���0�
,������3�������

��C��B
����8���
�+#���$��.&�'����?��8���������D����9��9��������9�
�8
������8�����
�9������D���H�5��88���8�9��
�����9��
����8���9��9������8������
���
����
����"�������
����<�����5���
����?��
9����9�
���<�D�
==���������������9�<���8��E��9�
�8
�����F0�
����<<�������������<�
�����9������������?������

��9�
���B
��������5�9���"����3���9��8���D��
�5�9��
�8���
�
�������9������
����������
���3���
<��
�8�����<�����������9�0�
,��� �� ��H� 
99�8���5��A����
����� 8���
� ��9�
�� ��� �

�� 8�=�D� �99���� �B
���� 8��� �$&3&#,&#�'*.*�/&"�
8�=�D� �99�����������9������8�������8����!����?���9�����=
����������
	��������
� ���A�
��� 
��?��A����
�
8������
��
�������0�
�
� 3&/,�+�*�� �$�� �*+*��&� 8�8��?��D���� �

�� 
�� E/&�$#�*F�� �
��<���
� 8
� ���� ���5��8��9������
A����
� ���9������ �=��
�
� �8� ��=��
�
� 
� #�=
� 8��� +
�8
� �� �����9�
� 8
� ������� �� 8����� �?�� 9��

����8��
��� 9
���
�8�� ���� ��� ������ 8��� �
���� �����
���8�9�� 8�� �99���� ������9������ 9��	
� �
��
������9����������������������<�����8�9��9���
��<��8�	���8������*&���9������8��9��
���������8��9
����9��9����
9�9���
������A������8�����
����
<���?������
���9��
���������9�
�����9���D�#�=
�8���+
�8
0�*���9����
��8����� ���� 9���� A������ �����
���� 9�����
������ <���5��99�� 
� �
�
� ,�&�&�� ������� 
� A�
�9�
9��
�
==�8������������9����������8���B����D�8������
��
����8�<��������<?���9����	���
�����8��������=�����	��
���9��
��0�
,��� ���� 8���
� 3&/,�+�*�� �99���� ��8����� 9�<��5��
� E���=
�9�� ��� ��� 
�������� �?�� ��� ���������

==�����
�� <���
�� ��
95���
	����� 8�� ���� 9��99�� �� 8��� ���8�� �� �?��� 
�� ���������� ���
���
� 8��
8�9���<<������������K��?��
���
������������K��?������9��
������������K��?��9�
��F0�
���� ���9�
��� �?�� �=���	����� �� E8�9���	����F�� �������� ����������
��� �� ���8������ �����
���9����
5
���
��� �
���� 8�� ��� �����99�� ������ �8� ����
���"� �B����
����D� ����
� ��� ���9�� �� ��9��<���� 9������
������
��=���A�
�8����
�8��������
���D�=�����
99�����		
�
������
���
���
�������������8�������
<��
�8��
�?�� ��99
� �9�9����� �
� E<���
F� 8���
� ��8�����D� 9��	
� ��� E�����F� �?�� �
9��� 8
��
� ��8�����D�� ���� ���
9��
�
	������?���99
����9��������8�������0�
�
� �������9����� 8�� A��9�
� 8�
������
� ������
� 
�� �����99�� C� �B�99��	
� 9��99
� 8���
� ��8�����D� �� �
�
�
��
�
��������9�����5
���<��8������<������9���
��������5�99���
�����<���������99�����=
����9�
����99��
�
����
�����9������
�������
�8�����9��������5��8����
�E����?�		
����=
�
�����=���D��������
F0�

Page 4 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



$B� �������� 
� �
�9
�8��A��9�
�9��99������?��9�������9�5��
���<��� 
��
��?�� 
� �?��?
��8��� 8�=��9��8
����
��9�������������5�99�����8������5��8�9���
����������9���������������+�
=
		��������9�0�
*�� ��9���
��� C� ��� ��������9��� �?�� ��<��
� ������� �?�� ���8���� �9���9������ ��� ������� 8���
� �������D�
����������
��� �� �
� �?��9��
� 8�� A�
�9�
9�� ���9�����=
0� .��<���� ������ 
� ������ �� ��=������ ��� ���
<<��� ��
�B���
<��
	�������9����9���
�9���
����,�(#���A����
��
��
���9G���
<��
���������9�������� ��9�
����?��
����8�� 
�� ���=�� �� ��� ��8���� 
� 9�����
� =������D0� ,���?C� 8�9���=���� 
99�<��� �� �
<
������ ��� ��� 
����
���
����;���
�������������55���
���������	�����;��B�=
9�����8����
���9���5�<<���
���9���
����
������
��
;�
3���� 9�� ��������� 8�� ��=��
��� ��� ��9���� ��8����9���
������ A��9��� 9�8������� ���50� +
=
		�;� $B� ���
������
�������5
9��9�
���������5��8�9���
����������<��8�	�;��B���=��9�����
�����8�=��9����
��� �
�9�<��
�
8��������������9��
���������99�;�
3BC������
�����?��
���
=��9
�����
��������9�
����?�����5��
���8�9���9���9����	���
�����A������8������
��
���8��
�
9�"����,�(#���$��-('(#&I�L�
�8���
��
����5�������A�
�8������9���55������5�������
�9���9
9���
�
�
��
��
�8���5������ �B���		�����9��5
����������������
���������
�����9�
������=��8��9�<��5��
�������?J����
9����9����=�������=��������0�
���������
��
����������
�
8�
=����
��
���9�� �
��������
��9����	���
����������
�
8�
������
��� �
��
��
�
9�9���
�8�� �
� 8�����9
� 9��9
	����� �?�� ��� �������� ��K� 5�
�
���� 9����� �� ���8��� <��� ��'#*� 6+�
=
		���
/����	������� %��9
���� .�9��� ���0���7� ��9���
���� 9���� ��� ���������� �
�� ��
� ��9��9
� �� ��� �
�����
��99����������5������
���
�	�0�
,���8���
�����30��
9�?�E���C������?��8�5���9������������8���8��
����������������?
�������9���������
��������
�
�<���������
��0�*���
�
����������
����
���5���
���8���
� ������������
���5���������������9��
������8
��
�=��
�
������� �� �
� 9�<���
� ���=��	����� �?�� ������ �� ��������� 9�
��� ��9�������� 6� 
������ �����		
�8�� ���
����9��9�7F0�
,����������
����
�8�
������
���
����9��
����������
�����������=
����
�������99
�
���
����
�9�9�
�	
�8���
�
��8�����D�� �������� �?�� =�� 9�
��� 
������ �?�� 9�� 
8�������� 
� �
��� 9����� 8
� ����
���� ��� �
���0� �
�
3&/,�+�*���$���*+*��&����������D�
� �
=��
������A��9���9��9�� �8����A��9�
����9�����=
����������
���9�<�
��� �B������� ���
��
��� 
��
� �
�
���
� 8���
� �
��
�� ���� �����
�����9��9�� �� 9�9���
��� ����<������
�����8����
�
��������<�
�������
���9��9�����0�
,�����������A��9���
��
�=�<���
�8��������	�����������������=��8���3����=�99��
��������������8�<���������99��
8�55�9�����������9�9���	�����������
��=����������
����
������
�����������
���
�#��
�9�����������
���8
�
A�
������8�����9������8�9��99���������������?��8���9��8�� �9���8���������9��8��5����
���8
��B
����8���
��8�������8��8�8��
����
�E3*&B�3�$�.*�,�#$�$�,*(B�.*��,*�3$F��������
�����
���9
������8�
�<����
������0�
*���������9��8��3*&B�3�$�.*�,�#$M00������
�8�K����=
�
�	
��5��
������������
��		
��0�
-&#)���(,*MMMMM0IIII�
�
%���8�����$��
�

��
��������%�����

��

��&
������2�
�����
���	�/�

�����8��A��9���8���
���������A��9���9���
��������9�
���
$9�9���������A��9���

3?������9�����=��D�������9�����������<��
&�9�����9����������������
�8�
���<<�
���8
���
<���

%���5����
&�9�������9�<<�����9��		
���8
�����
���9�
����

��������9����9�
�	��=�����

�
'0��0�$����N�
���	����
	��������.�

��

��

��)�
�������
�������	�����
�
���������3�������	
����

E*���������������K��99�����
����9���
��������?J�8�=���99�������9�������9����A�
���9
�8��
99������8��
�������9��������K��99�����
����9���
��M����������������55����=
��������������C����������9��������������
�55����=
����������������K�5
�����K��?��C�9����5��
��������������8���
�
���=��D�8��A��9���������"��99��
��K�
���
�
�������C��9���������������9��������<��8���
�9�
�
����=
	����������9�����5������9
���
�������
<�����������
��� ��������<����0�����
�8�����
	�
���8���
� E�B����������������
�C� �
�5���
���8���
�
8���B
���
�
	����F0� 3
��� ��?������ �������� 8����� ��
��� 8�� �����	
� ���� 
=�=
� 8�����9���
� 5��	
� 8���
�

Page 5 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...




���
�
	�������8���
�����������������
�����������������8�9���9
�����
��
��������
�8��������
��0�&<<��9��
C�5
����A�
��?���
99�������H�=��9���
��������
�����9������	
�8���
�8�����
	�
����
���
��9���
��������
9�<<���9���8
������������8�� �
���	���������� +���<����<
�����6/
���8G���5����
��7� E�
�8�����
	�
�
���������
��
� C� ��
� 8�����
	�
� ����<�
������� 5��8
�
� 9���
� <����
�� ���C� 9���
� �55��
��
� 8���
�

���
�
	����F0� *�� 9�9���
�� �������
��� ���
����� 9���� 
� A�
��?�� ������ 5
� �����		
=
� ��� 9�9���
� 8���
�
�
����9���
�	
�����9��9����?�����
������������
��9���8��
99��	
�8�����A�
�9�=�<��
����9��9�0��
�
�����
	����� ?
� ��<�
��� 9�=�
�
� <�
	��� 
� A��9�
� 
99��	
� 8�� ������0� *�� 9�9���
� 8�� ������� ��
�

�����5����	�
�������
�8�8
���
�������	�����8���������������=
�������
���<������<
��?���?��9��9�������
=
���
���� �����<���9�� 
�� ���
�8�0� *�� ������� �����=
����� 8���<
=
� �
� 9�
� 
99��	
� 
� ��9����0� &<���

����
�8�8
���
���
�������9
��� �B
99��	
�8��
����
�8�8
�������������9��������������
�������������8���
���8�9���
���
�����
�8�0�$B��
���
���A�
���9
��<<�;�L�
���9
�9G�����99���������������<<��0��
��������
�
���
������
9
�
�9���
��55��
��
�8���
�
���
�
	������9��C����=
��		
�
0�L��9�
����=
��		
	����������C��?��
�B
���
�5
���
�8���
�8�����
	�
�5��8
�
�9���
�<����
�8���?������
�������9��9��9����8��
�8�����9���9������

����99
<<��8���
� ����������������
0�-�������9�
�8��������
��9��� �������
��������
��=�� ����� <����� 
�
8������ ���
�8�� 8����� 
����
�8�8
����� E����99�����O���9�9�����F� �9�� ������8�� 
��
� E���=
F� ��
99��
8���<�����A�
�9�
9��9�����
��?��8������� 
��?��9���� �B�8�
�8���8���������������?J���� ��
8���8�9�<�
����
8�=�� �99���� 
��B
9������ 8��� ���
��
��0� ����
��� ��9G� 
99�9����� 
��
� ��
<������
� �9������	
� 8�� ���
3��9�<�������
	���
����?��9��9��9
=
�8��
�<��
���������
�
���
�������<?�0�*�����		�����?��9���
����99������
�
�8�8
���
��
����	���������6A������=���������A������E����99�����O���9�9�����7��A������8���
�9����8��D�����
�
�<����
�8�����=�
����
��
�����9G�
����8
�5
�����9
����?������9����
����8������9�
������������
���
��
�
<�
����D0�
��8��
�%������		���

��
����J�

��

����	������
�
������
7�%�5�"
�����
�	/��

��	������
�
������
����!��
�������������������
�?��������������������

3������
���
��
��5�9�
�9���������9����8�<���
9���
����
����P�
���?���
	���
��P0�
'����� 8������ �?�� ���� ��9�<�
� ����
��� ������� 6��=��<��8�9�� 
���� �
���� 
� ��9�?��� 8�<����7� �� �?�� ���
���
��
��������
�8����H�6��=��<��8�9��
�������
����000���������8���
��
��<���
70�
�
���
�����������
�8�8
���
<<���<��8��9
����������5
��������
<<���<������8����
99������������=�0�
,�H�9��������8����9GI�
$����8�9���9��
��
��
0�,���?C�������
��
�������C���9
�8�=��9
�8�����������?������9�����0���	���
���
=��9��
�
�9�=��
�9���	�����8���������9���9���
��5�9�
��� 
��Q� ����9����<�
8�����<��6���?�7� ��8�5�����6�����7�
8���
���9��
�9�����D���?���9���8���
99
��=
������8
��9�������		������
��
	���
���D���
���9��
���Q�������99��
<����
��0�
L�������?������
����?��8�=�����=
�����C����������������������
���
9���
���=�9����?�����9������
�����
���9�����
������������	�
��
�������8��9�����������9��8�=�99����
�����
��������
��?��9���������8������
���5
���
��?���QC������<
	�������?��������
���=
��� �Q�
��������?�� �
���9��
�5��	��������9�9��������
�
5���
��8����������0�
&==�
������A��9���8�9��
������
��
���
��������
��?��A�
�8�� �
����5�99��������������
�
������������
A��9�����8��5����
��
����9��8��6
�	����<����9������
�8�����
���
���������A��9���9��9�����H�9��8��5����
���
��H�9�88�95
�=
���D�����������	�70��
$��������?C��
���������<?��9���������Q���������� A�
�8��8������8�� 
=���� 
� ������ �Q� 
==������8���
�
�
��<���
���99��8������55������9����8����������8��=�9�
����������������
��������"�9
�����?���8��A��9���
�
99�������
������� �
�����5���5����D�������
����������������?�� �Q�������=����������99�����������<<��
9��	
�8��
����C�A������8��8�=�8���������������������8�� P9�=���P���<����9���
�9�
���	�������5
���8�9��
<��8����8��9C�9��99�0�
����
�P<����P�
���99����5��<
�������"�
���������������
���9��=����9����������������8����
������
��?��5
�����������5����������������<?�������
8�

����0�$�A��9���
����
�����������9����
��
���0�
L���8�����
�8�8
�������������9Q�����<�
���9��A��9�
�9��
8
0�
3?������=�8���0�/�����
���=��
��������
������
�5���0�
'���
=�
������������Q�
���������QC�A�
��?���
������
������������������
��?�������
���=��D���8�9���
����
5��
�������9���������8���?�����������99����-������������������
=����8����9������8��8����8���������
9�9��������
����������	
����
�
���D�8��9�
���9�������
���6���C��99����
���������7������C�8������?������
����9����99
��9�����8
��
��
�
���
���8
��-�����������������9�
�������?��9������������"��9����A�
��?��
���	���
�8��������0��

@?�������������
�
���5�99�����
�
���8�������Q�8��
���������
�8�=���������=�������?�"������9����<�
8
<���9����9��99��
��<��9��5��
����8
����?�����9��=�	����?���55��
���C�8����5����<�
8��6�����Q������A������8����8��5
��<��
�
�?�����9���=���� �����8������9��	
�
=���=�9��
�������
	��������
9
�8�9�������9������
��������9����
�
���?��9�
� 8��� ��������� 
� =����� ����5����
70� �
� 5
�����D� ���� ���� 9�� ������<���� ���9�
	����� <�
������ ��

�������8�������9������������	�����9��A�
�9�
9���8�
�
�A�
�������
99�������
���9�
�����9�������=�N�
������9������8�
�
��
������8��	
������
������
9����������=��9������6�����
��
�	
�8�������9���8��	
�
8�
�9�<��	��8���
�9�����D7������9���	�����8Q���8����8�������<������=�����
���<��
������
�������8������
����
�

Page 6 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�������?��������8�5��
��� ����������8������9���=
������9�����8��8�������	����� �9������8�����9����
�����N�
��C������A��9�������������<���=���
�5
��� �
�����
�8�������������	��9����
������9�����������9��A�
���
9
�D��
����99��
�9����
	����N�
��C�������������������
����
9���5
�9��9
��������9
�<���
<������?���8�������
���������������N�
�� �
���9��
����9��	
�����Q� ��<
��		
	�����9���
���9�
�����8�=���
������ 
���8�������������8�=������
��9������������9�������5
������9���=����
�
��?��=����������
�����������9�������8
��
�9�����D������
�
��������
�"������
���A��������������	��	��
���K�����99
���0�
��A��9���5�����
�9������?�����
�8�8
���
��
����99��
�����
�
��������
����B��	�
����������
	����"
����
�������������������	�<��5
���A����5
����������
�2��������	���5
��
���������
�"
��
�����
������C�������������������
�����������?/�
3?�����9�
�A�
��?����=��DI�,����9�����"�
��9���?�
��9�
�A�
�����99
<<����=�
���
����������0�
,����99����
9����
����8�=�������������=������A�
�8���Q�C�8���Q�
����	���������C��
������
�9��������8�����
������99��<����
���8
�8�5��8�������99��������������8
����H�9=
��
����=�����6=�8������=
	�������<�9�
��=���
���07�
/
��
��������
	�����8�=�������������=�9����"�
�Q������		
�����D�8�����=���9��������������������
������<��
�����8��������99��������=����8�������
�����
����8��
5
��<��
�� ���0�� 
���� 9�
��� ����� �����		
����� 9�
� ����?C� ���� �������
������ ���5�<��
���� 9�
� ����?C�
5�9�
�������������������
��0�-���?C�9
�D���9�?��9��9��=��9�����8�55����������9���������
������
���� ���
������D��?���55����N�
��8�����=��������?��8����
9��99�����65���
���D���������
��������
���?�7"�������
�8��8��
������
��<�����
����Q�
8�<�
�9��������K�<��9��5��
����Q�
���
����������6
==��
�������0�9��
����		���70�
(�
� ����
� ����9���	
� 8����� ���=�� ��9���� ���=�9��� ���� ��� �����
=��8���"� �����5��
	����� ����
�����
5�8���99����������		�����8
���D�8����
<
����������9=
���	������0��
��9���?�
��9�
����A�
������=��
������9Q������8������<�
�9��
��
�������
�8�����=����������6
��
<
�����7�
�����
���9��
�
���=��DN�
��9���?�
��9�
��?������9����K��
��
���8���5�����������
�����=�����
���
<���
9��������H������=��8���
�=���?�
�
����9�
	�����8������
�������������55���
����?�����=
��
�9�
��
<�����8Q��99����������<
���
������������"�
�
9�������������,&�'$������������(55���
���,�9�
��N�
�� 9�� �?�
��9�
� �?��"�� �����"���� ��� ���-
���������3� 
� �5
� ���� 
��
���� ��� ������� 
��
���� ���
-���������3<�"���������������
��
�///����
������
/�
L��9��� 8�=������ ��
� �Q� 
����� 9�<��5��
��� <�
�8
��� ���� 
����� ���?��� 
��
� ���������	
"� ���� 9�� ��K�
��=��
����
��<�
<��
�	
���
�����������55���
��������������������������8�������8��000���<���0�
�
����������	
�8�=������
==������9�������
������������
��������8�9������������A��������?
�����
�

� �?�� 5
��� ���� ����=������� 8�� �
� �� ��H� 
���� 
�� <������ �?�� �
��9
��� �������� ��
� �
��
�	
� 8��
���5�99���
���DN�
�� 9�� �?�
��9�
� �?�� �Q� 
���9�	����� 8�� ��� P��
���� 8�� 9����9���	����P� 
� 5���� 8�������<���� C� A�
���9
� 8��

����
�����8���������� ���5��9���8����������0�6���
��������?���A�
9��8
����9��99�����9�����9��������<
� �Q�

����	�����8���
�������
�8���Q�
������������I70�
L�
���9
��?��
�<����9���A�
�������������8�
���8���99����8�=��������9���
���9�����������������<�
���N�
��9���?�
��9�
�
���
����?�����	�	
�������	�����
��
��B���������������C�6������������9�����	�7����
�����
���������A�
�������8���
��5�9�
��8�5�����=
���������H���8�5��
������
�=�����D�8������
�������?����
9��8���� �
�����"�� ��� �	�������� ����� ����
������� ���
������ ����� ������� -������
� ��� 2������
���������
��
���
�
	
����������
��
���� �� 8�� ����<��9��D�C����
��5
��
�������
����"
���-������3�
�
������������7��������������3����=�����������	�����=7N�
��9���?�
��9�
��?��8�=�����9�
���9�����8��8��
���8
����9�<�
�����99����99�����99����8���9��
���
��
���
������A�
������K������
9��8�������
9��������D��9�����������������������������
�9���0�
�����9����
�������9����0�/��
9�������?���
�5
��
9�
���Q��������<��	
����
����9���
��
�8����
�8�8
���=
8
�
������
��8���D0�

$�������9������

��

��+�
���87������
�
���/�

'��98
R"������	�	���0��

3
��������<?����

7�9��
��� �
=��
�8����������<
��������������9����,
��
����
���� �Q�<��	�
�8���'���������� �� �Q�%*�����
���8���� ��� ���	�� ���"�� ��� 
2��"���� 
� ��
�
��
� ��
��	
��
� ���� ����
	�� �
���� ���������3�
�		�������
7�'��98
R��-����
�R�
����

����"
��,/����S���"�#�"��&���++*&�,$#�3��3$���)*&�$�
��$�'*�)*&�$�*,&'$3�N��
�7���� �
=����8���
���3
5
<�����-�8������'
99��
�����������
��������
��������8��
��������
��
�<����
�
�8��
����������
�,��9�8��	
�8���3��9�<����?
�������8�������������������5
������		
��������;"�'��98
R��
T
��
�R��
���

��!"����/����S���"�-:"���������
��		
	�����3����
UUUUUUUUUUUUUUU�
�89�

��

�����
�7�����
�
-��������///�

�G���������
�=�9�
0�'�����<������?������
���9��8�����0�

$�
���������<
����������/��8�0�L�������?������
0�,�����������<
����������8�����
�������B����8
������

�=�����0��B����8
������
��
�%��9
�����90�
,���?J������D�9�
�������9����3��9�<�������
	���
������
������8��������������5
������		
��������;��
�����9��
� C� <�����9
������=������ 
� ���=
�������� 
<<����
����9��� %��9
�����90� *���������������9G�
8����
�������������
��
��0� $� �������5������8������
��
��0�,���8
���� 
��?�����=
�8��� 9�������<
����� ��
��9�
�����
=��������������
��
����?
���99���������
�=�9�
����9�������5�����0�,�����
�����5��
�
��A����
�8
��

Page 7 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



/���9�����6�?�99D��/���9������?�;7���?����� 
=��������9���
������
���8���B�=��=��9��8��A��9���8������0�
,
�����������8�����
0�/��
��
���
���������<�����0��
/
�A����
�����5��
�
�����C��
��
���=
�
0�3����������������0�/
<
���8��
��0����
���C����
�����<�����0��
��	�"���B
�����<�����0�*��<������8���
��.
�������"��������5�����������������5�������������������8������
����
���������5�����������������5�����������?�99D��?��=�����D��A��9���
�����C���
��
���
�
�<
9��C����
�
�
		���?�������
��������D��A��9��� 
����� C���
� �
�
�9�������� C���
�9���
� 
�� �
�����
������A��9���

�����C���
�����
�
��Q?������A��9���
�����C���
�5���
�9������<��C���
�5�
��
��?���9���8�������������
A��9���
�����C����<��
���
��=�����������������9���
�8������C��?�����=������9���
���������B�8����H��
��?��
��;����=����������
�����
���H����
==����������H�����9���?��9����
��?����I��������5�����������������5������
�������������8����������
���������5����������������5�����������?�99D��?��=�����D�M�
��<����8���
����

��

��

��

���9�-
�������

*���
���
���
�

��

3?��9��9�=�������3?��9��9���<�
�N3?��9��9������
�I�
,���9����������5����������=��9
����
�����
V��=��
��8�9
��9��������
0�

#�<����9�������������������
�����������<�
��
�5�����������<�
�����
V��=��
����9
��9��������
I�
�����,
����,����������
��
��<����9�<����
����
V��=��
����9
��9��������
MM�

��

'$/,&#��%&���.$�*��'�

��

�
��� $��9�� >
�����:��	� �
��
	�� �	���	��� (��� 9��8��� 9����� 
���
�
	����� �����<��?�� �� 9��� ������ 8���
9�=�
����
��	
���
"����������
8
��
�����0�

��

��:��	�����������������

3
�
�#�8
	�����8���
�3���
<��
�8�����<�������

���9�
����?��?
��=����� �
�9�����99
�9���B���	�
��=
��8�����
���<�
	���
��
�<���
���D��8�
��
��
�
�����D�
8���B$8�������8���#�8
��������3���
���
������?��8���9��8����99
���
��
�'�
�����
���W�����A�
������� ���
���9���
������5��	��W8���
�8
�'�����
������������?����
9���=��A�������
���0�
L�
���
�'����������<
��55��9�=�����A�
��?��9�
��9���99����������
������'��
�����		��
����9��
�����O��
��8�5��
���0�
����
�	�9������
��������
	���������<�'������H��99�A�������9
����0�
/��
�����!�<���
����

��
�
#������������

��

D*�E�

,0�0�

���������99
��
=����<�D�����������
�����
�������0�

��

Page 8 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�
+���<���.���������

��

��

�����������������

�
�	������
��������	��	�������������	��������	� ��
�3
9�0�

(�� ����� ���8������� 8�� 9���9��
��� ��� �������
� ������ ��� 9��� 9������� ����?J� 
� �������� %��9
��� ��9�
������<
���C�9���99
���8
����?��9���
99��8��8
��
����8������
�0�F����9
������H��
<���
���8
�9J;F����
�?��8�0� 3����� �?�� ���� 9
���� �
<���
��� 8
� 9J0� $B� 8
� 
���� �?�� 9���� 8��<
��� 8
� ������
��� ��������
�
99����� ��������� <����9���8��	�
��� �� 8������
��� 9����� ��=�9��� ���
����� � ��� ���	� �����!��������� 	�
��������
	��!����������8�=�����8�������
��
����������
�9���
�8�����������
�����5����	�
����?��8����8
�9J�
9��	
���9�<���8�����������
	������?������9�
���A������ 
�������?����8��A����55���
��0��=�����
��=�9���
���
��� ��9�	����� ������?�� �� 8�9���8
���� 8
� A������ 
���99�� ���� E=�9��� 9�� 9�
���F;0� (�
�� 9���
� 8��
9�55��
�������9��
�
��<<�
�9���8���������8���
�8������
����
����0�-��88���
�<�8����������8�����8�<���������

��������� ����� ��� =������ 8��� "��������0� /
99�� ����� 9�� ��
��?�� =���
��0� (�� �9������ ������� 8�
�
�����
	����� C� A������ 
��
�9�� 9���
� #�=�9�
� 8��� ���
��
��� 9���
� �
���
� 8��� =���
��� 8�� ���
���0� ���

		���
��������	��
�������������=
����������������B�8�
��?�����=���
�����8
����8
����
���
���
��
�=�9���
8�� E
���������99�
���9G��
����
����F���
�9������8����9����<����8���0�*���������
������<���
� 
�����
�
��9�
���?��9���
��
���
�8���=���
���8�����
����A�
������9��C�9��9��������8�������9
�������5
�����?��5���
�
���
�������5���
������99�
���9��������9������������
��������?������=���
���8�����
����
��?��9����8
����8
�
���
���C�9����
���������
���������99�
��0�3�9G��
�����9��
�C�����B�������
0�+�������9���9�����������
������
���
��9�����
99����
���9���5
�����?�������9�9����9�
���
��
����������8�������
�������
�������9�	������?��
��99
����9�
�9��
8������9�����������
��=�� ����<
��������9
��=����������
���8���
�5����
�
��?��9�
����
�������
�8���������8�����B��
�8����=
�
�8
��5����0�3���?��8������������9��	
�=
��
���������
����
�8��
�
� ���� 
��
��
��� 
��B��
� �� A��I� 6����
� 9�� �
���
� <����8��
� 8��� =���
��� 8�� ���
���� =�8��
���#!��#��0�

���0����0�
���9�	�����
==��9
�����
���
��
��8�9��9�	�����8���=��������9���BC������������
��� ������9��5���
� �����������
	�����������<�	���<����8�������
����� M09������8�=�9������=
��
��������
������� �
� =�� 8
����� ��� ���=
��� �� ����99
��� 9�<<���������� ���� =�������� ����
��� ��� 9����� 8��
�
��=�
������M�8������8�������8��5����
��70�

�

�
$���	��	%��	���&���
	��	�'���������������	������������	�������	#�

(����?�%��@�C����=����0�*������
����������9
�=��D�8
��
����
���
�
������
���0�������������
������K0��
�

	�
���	������C�5�99
�
��J�8
��<�=������J�8
�������
����
�8
��
��
���
0��
������
�	
�8�������������?��
5
�D�8
��
9�����
��B&���8���������9
�D�����������9����
� �
����
���
������<��
0������BC����
���
���H�
<�
�8��
����9�������
��
�A�
���D�8���
�=��
�����8���
����?���
�������
	�������
�������
����������
�������

8�9���	�����8���B
�������� ��B
����==�<���
������ ����<������ �� ���<�������?�������99����8���=
��0����

Page 9 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...




���� ���� 9�
	��� ��9��
	���
���� 
��
� �9������	
� ��=���	���
��
0� �
� 9��
� �?�� ��K� �55��
��������
�����
9�
����B�8�
�8�����<��99����������=����A����
��8������=
	����0����5������
�A��9���9���
�����?��
���9�����
�����
��
���8��9�
��
�9��8
��
�8�
����
�E9�
��FOF����
��F��?�����
==��<���������
������8��
���=����5�������8��3������55�9�
��������������8��
������9�������
8������	���
	���
���������
�8��8�9������
�
����<����
�������
�9�������
���
��
�8�
����
�9��������D����
��=����<
���
��
��
���
���<
	�����8���9��8��

���9�
	�����9�9��������������5��
������9�9�����0�����99�����C�=����������������?��9��9�
�
����8��A�����
�
���=
� 9�
<����� ���� �
��
��� 8�� 8������� ��
��� 8�� �
������� <����8���� ���� ���8�	���
��� 8
��
� �������
� 8��
�����	
��
�8
�A����
�8���
� �9������	
��8�����8��������?��C��
����8���
�������
����=��9
��0� 3?�99D�9��
9
������ ������� 
=
�	
��� ��
� A�
��?�� �����9�
� �?�� =�8�99�� ��� ���
��
��� �
���� 
���=
� ��� A��9���
�����99��� �?��8��8�� ��
� ��H�����9�=
� 
	����� <�=���
��=
� �� ������8�� ��� �
���� ��� 9��� ��9��9�� ����
���8����
���
�����8�9��9�	������?��95���
��������8�����0��������8����������K0��
��������
�
������
������
�����
9��
���9�
�9���
�8�5�9
�8
��
�������D����
��=
�8�<���
���������
��
�
�
���<
	�����8��
���9�
	�����5
��
9�
0�
����� �
� E�������
�
������
��F�8���
�8�5�9
�
8�����
�	
�8���
�3������� ��
� ����
�������� �B� F�55�����9���
F�
���8���
�����9�<���8���
�
���<
	�����8���
�
���9�
	�����8�����5�����D�9�
����<<�
�8����
�8�9��9�	�����
��<�9�
��=��=��<�<��9�������=��
����
�������D����
��=
�8�<���
������������8���D�=��9�����=�����	���
����
�9������	����?�����5���
����
����9��
��
�
��		
����������D�
99����
0��
���
����

��

�����������////6��������������������
��5��

��

��

���5
���
����������
����
���
�����0�
,��� 9��
8
�� ��� �55����� 
� �
9
�� <�
�8
�8�� �
� �=0� �����
� ��������
��� ��
� ���9��
� �� ��� =�8�
���
�B���
<����������=�8����� 
��?��9������� 
9�����
��� �
�=���������8�
�
������ 
���=�
������A�
��?��
9�9���
�8��8���8�5��
	�����8���9�<�
�����������=���?����������������8�����������
���9��A����
����9��
�C�
���9�����5�������
���<�
�
�9��9
M0���0���0�
$B���
�
�����D��?���
��
<<�����
����8��������9������99��8���?
�
��?����
�9�
����
��8���9��
�
���
9��
�����<��
�����9�9���
�8�����������8�5������E��
��5��E����9��	
�8���99
������������������99����
����
�
���
	�����9���
��0��
����
��
��8��D�8������9�
������
<
������
9���
�����=�������9��99���
���
���
�8��A��9���9����	��9����
�
��9�
����� �
=����8���
�������� C��
����9���
�
�8
���
�9��9
	�����<������
��?��=�����������������
8�5����
�E9���
��
F���E�
����
��
F0��
����
����� C� ������ �?�� ��� 9�9���
� �9�����=
������ ��
� 9���
� 8�� 
���
	����� �� 9��9
	����� 8�� 
55����D��
9���
����� C� ������ �?�� ��� ��9�����9���� ����� ������
��5��<� ��B���
<���� 8�� 5
����
���D�� ��� 9��9�� 8��

��
������	
����������9������D��=���=��9
��B
����
�����9�9���
���
�8�9��9�	�����
55����=
�8�������9�����
�8�������
�������D����
�9���
�8������<�
�	
��
���
����������
<���
�
0�
'���
=�
��
��� 
�����D��?�� �
�9���	������
���
���?
����=���<�
��� ��9=�����
��� 
��5����8�����9��������H�

<�=����
8
��
������8���B�����
���
���W9���
���
��B
�������������8�9���<������
��8
����������������
8
��B
�������8�5��8��9����<�����
��5������=����8����
���H����5��8
��������9�����8���
�������99
���
��D�
������
�
��9��<�������K���9���
���
�=������5���=�
������5�����8���A��=�����8�
���<���D0�
�
�5
=��
�8����������
�
���������5��9�����8�������A��9�����9�?��"����������9���8��
��
������	
���?��
������
������=���=
�5
���8���������E
�
��������F��������������9���
=
�
����
���������8���������������9�����
8�=��9��<������8��9������
���
�����<��
���8
��
� ��<��
�8���B
��
������	
���<�8
�
����
������������9����
�
=�
� =�
� ���=
���� <��� ���
�8
=
��� �������
������ ��B���
<���� 8�� 9C� ��
8�<�
�
�� ��
�����
������
����<�
�����?�� ���
����� �B
���
���� 
=�=
�� A�
9�� �������
������� 
99����� ����� ������
�� �
� ����
����������������
���
������
�
������8����5����������<�����K�9������9���8��99����9����������������
��<����
�
���8��5
�9��
����		
���� �8� 
����		
���� �<���9��99�� �
�9�
��8�����D� 0,�K�5��
�������<�8����
8���
�9�
����
<������5��99
���������
��5���8�����
�A��������8��8������
<�0�
,���������8����5��9����K��99���������������5���������
��8�	���
����8���9�����<�
�8��(0�+
����������?��
��
�
=���� 
����
��
� �����
"FM08�9��9�	����� 
55����=
� �
�
�����		
�
� 8
� ������
�������D� ���� ���5������ 8��
���9�����<������9���
���
���
��� ����9���?������9�����9�����
8� 
�����
��M0����K��99����8�������
�
�
8
��
������	�����9�����9�����
���
�������9���8���
��
������5���
�
���A���8������99
�8��9J0F�
�E��
�����
�8�F����
��������������������������������������������������������������������������������������������������
%��������
��
��
��������������������������������������������������������������������������������������������

�

����������������������������������������������������������������������������������������������������������������������������������������������������
��

Page 10 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



��&
�����������6������������	
�����������������
�����

���� 3��?�����9
���9�
�
���
��B�����==�9��������������=�9���<�����<��
���8���
�8����
0�*�����9����� C�

�8
��� ���
	���
������� �
� 5��88
������ 
��B�8�
� 8��� ���
��0� ����� ��5��99����� �?�� 
���=
��� 8
� 9����
A�
�8�� �
� ������ C�� �����
� 
� 8
��� ��� 9��9�� 
��
� ����<
��		
	����� 8��� ��9���� 5���9� 
==����
�
�����9��
������8��
�������9����0�$B������������8�����
��=��D�8��9������8�8��
���
��
�5
��<��
� �� 
��
�
<����
�
�8���
=�����?�����
9����
0���
=���
�����9������?J��5��9��������9��
�?�����
�������������9
����
������� ?��=���5��
��� �B�9��
����������8���
� �
��
�� ���������
�������� ���
��0� ��� =�9�
��		
��� ��� ����
�9������	�������9���������
������8��
=�������9������9�������
�����5�99���
�������
����		
����0�3���
�
����
��� 9������� ��� 9���� ��9�� ������ �?�� 
������ ��
��� 
��?�� 9���
����0� -����� 8
��B
��������
���5�99���
�������9��9�������H����������9���
�����������9��9��99���8��8
���9�
	���
��?��
�=
���
	�����8��
���
��
0� �����
� ��� 9���� �?��9��� ����?J� �B�����99����� �
�����
�� ���� ������ ��� 
�������� 8�� �
=���� ��
5
��<��
���=
�9��99�����
�����8���	����0�
����-��9�����9�
<�����?����
�=�9�����8���
�����������
��
��
�����8
==����������9���
����
����0�/
�
����
�
A�
��������K��99���������9����
����
<
����������=��	�����8��������0�����
�B�8�����D� C� 
��
������	
������8���� ��� �9�����<��5���9�5�� (�������+
��������0� �B
99��	
� 8�����5����
�8��
� 
� ���=�� ��8����� 8�� ������
0� /
� 
�� �����
���� 9�� ��� ��K� 8�8����� �?�� 9�
������� ���5���� �����9��
�
55��	
� ��� �������� ������ 9���
���� ��� 9�� 
���8�5���9��� ���� �� 9������ ��B�8�����D� 8
� ���� �������� ���
8�9��99����0�
�����&<<���B
����
�����C������
���������
99���8�
0�,��5�99������������9���
<<��99�=�������<�������'.���

����=���8�����9�<���	
��<�
8
<������������8���������
�����9�<�
���������5�99����9�
0��
��� ������
� ��� ���
��� 8
� ������ ������� ?
� �
������ ������9���� 8��� ������ ��9����8������ �?�� �B
����
��
�
���8����
�9�88�95
	�����
���
���������
<
���0��
��� �*�������������?��=����� C����	�
��� 
����9������?�����?�
�
�����������
<
��� ��A���8��8
�������
�
���

9����
��
�������
�8���
<�����9�����8�������5�<����8����<<�����������9�������8�?
�9�����
�9����
�8��=����
���
��5
���
����8��5�8����������9��
�9��8�
������9����?��95�8
����<����
�
���D���
�
�8��9����9������9�����9�����
A�
��?����8���
��������
�������9
��
��0�$8�
����������8�=�������A���9
���5��
���
����������
����8����K�
�?��?
���H��
��������������8�����������������8��������
0�
��� ������
��?��
��
���9���
����� ���
<
���8�99
��
����9����
����8����� 
����8���� 
����?�����=���<�����
95�8
�������������9���������?��
������
�9��9��99�������B
���9���
0��
����$������9����
��
�����<����
9��8�����5�99����9����?�����9������
��9�9���
�
�<��9
99��������A�
�������
9
���
�������������
���
�������� ��� ��<<�����������9���9����5��������
�
��9����9���	��������=����=���?��
9��=����
��?��
8��=��
���9����99�=�����5�����0��
�����
�8����
��?���
99
�8��8
���
�8��
��5��88��?
�9����=
���8�������=�<��
�8���
������������
�
����9
���
�?����99
��9�9����������8������9�
�������������������9�
�
	���8
����?�����=
�������
�������
��
�<��9�
�
������
���
0���
�
+�
�/
����,
�������
���

��
��������/
<�
���

��

���
��5;������"��

,���?J�9���=�;�����=������?J�?��������
�����9�<���8��9���=���0�����=������?J�����9�����
�
���8��5
���
����
=��������
��������<���
����0�����=������?J�=�<������<<���������������A�������?��9���=�0�����=��
����?J�9����
��
���
������������0�����=������?J������
���9�
��������
�9�
�	
����������<������9���=��8�0�
����=������?J���99������8�����
����
��
�=��
���
���9�����
���
�8��
0�����=������?C�=�<�����?��<���
������
������������8���9
���
��?�������8��=��
�
���
���=�99������=�=�
���
�*9�
������'���?�
0�����=������?J�
�����
���������5����8���
��
������
������?��9���0�����=������?J����8������
�������
���
������B
����8���
���
�	�����H��?������<���
���
���9
0�����=������?J�C���
�
����8�������
��
99����0�����=������?C�?��
�
��
�8���99����8�������
��0�����=������?J�
����
�<����
����B������99���?������
������9���=���0�����=��
�����99����9���0�-��9��9���=������?J�9�����8���
���������?J�9������9G��������������
��
���
�������
�����0�����=������?J������
����99���������0�����=������?J���
�=���
��?��?���������
���������
�	������
9
<<������
��
<��
�=�<����5�����
0�����=������?J�������9��
9����
����?�����9���=
0�����=������?J�?�����
���8����5
����������
�������
���D�8��������������?����������8����������������������<�
�������9�����9�
�9��0�
����=������?J�C����	���
������
���
�����������������		��������?�		��8���
�=��
�����
��
���
0�����=������
����8������
�9����
��
����������������
�9����
0�����=������?J�9�����8��5�<<����8
�����9
<����?�����9�
�
�����9����������8�=��
�8
����
�W������������9�<����������99���
<<���<���0�����=������?J�����9����
�
�����9�����
8��99����5�����0�����=�������99����5�����0�

Page 11 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�
&�?
��,
��@0�

�
�
��"(�����	��������	����	��)�	�!��	��
	����	��*++,���)�	�!	-�.���	�����0�����

��0�
'�
80���0�8����8��
�%������		��

��
&�?
��,
��@�

��

���
��5;������
���/�

E������<<�������;F�
E���00�A�
��?��=���
00�=��
��������H�<����
��00�����9��
��F�
E/
����=���������;F�
E���M������
����5
0���������0�0���������8��
==������������
<
		�F�
E����C���
�����;F�
E��B?������������0��=�=��8
�5
��0F�
E$������B?
���H������9�;F�
�!�#�$�	���
�����	##�
��	����������	����	�����	�
�����������F�
E3���B?
�
����
����������;F�
E���������<<��D�����5�<���0��
=��
�������<<����C�8�55�����0F�
E��
�������
����;F�
E�����A�
��?����9
��8������	��/���������
	��������0��F�
E�������8
�<��=
��;F�
E��0�&�
���<<��9������<����
����?�����<�����9��8�������������������������
9���������������0F�
E�$�����#����9���5����
�8�=��C�
���=
��;F�
E������������8�0�/
�����9����
�8
���������
=
���0F�
E�������	���9
������8
;F�
E/
M?��������A�
����D00���9�<�����������=
�������������?����
���
�=��
�����0�$B�9��9
����������������
��9��
�
	�����8�������;F�
�
��8��%�		��
�
�
�1��
	���	��	��2�����������/��
����

����������
8
��
������8����8��
�%������		��

��

��

��.
	����������/�

*����9��������
���$��
�6��9��������?J�
�.
��9��������!���������
��������
��������,�����3?�
�
��8������
9��=
�����
��
�8��� 
�� =����9���<
�
�� ���<���������
�����
� 
�����<�
�8���
����9�
���
��
�
�8����������
��=�������� 9����� ��� ������� PL�
��
� <����
	����P7� ?
� 8
��� 
���� 9�
����� �������� ��
�� ���� <��=
�����
�
�8
�	
��6�99��8���
���
�/��
����Q
������������Q
���������������!��7��8���������	
�8���
���6����������8��
<�
	�
7� �Q������� ����� ��
�� 8��� 9���� �����
�
�
������ 5�����
���� ������ 8�� ���9�
�� #���� ��� �
��
�
6/��8
8�����

��$����!��
70�
$Q������9
�����9��	
���9��	�
�8��9
�����������<�
���9������������=
����5
����9��������5
���8��������
����
8�� ��
� =��
� 8���	��9
� 8�� �
���� �?�� ��������
� 8
� P����
� >0P6�!��7����� ���9�<������ ����
� 5�8���D� 8��
�9���
	���������P*�������
�9�P6�!��7�P*��������8��#
�
�DP6�!�!7�P*���
���������P6�!�
7�P*����
�����H�
=��8�P6�!��7�P*���
9����8��/�����9P6�! 
7�,������.�
��<<���� P*������?���
�����P6�! �7�P*����
�=�����
���
5�9���P6�! �7�P�Q�������
��P6�! !7�P�.
��
��8���=��8�P6�! �7�P�Q�����9���������9�P�6�! �70�
$Q�9��
��8��
���������A��9���������
����������������
�9
�8���9��	
� �9��
	������9����
�9��
8
��?��=
�
8�����
���<��� 
���� 
=��8��9������<���9��99��8����8��9����6
<<����
���� �������������������������
���
�
9��	
�5
�9��9��������
��9����5����
�9��9��99��������C��������
����9�
�8���<<�7�8���
8��	
��8����99������
9���
�������8��8�=�����
���<<���		
��������
���
�
���8��=�8����������8������������D�8���
�����
��8���������

����=�9���������8�������������9��8���
�5������D���������=�9����8���8�������
55���
��������9��������9��=��8��
=��
0� $Q� 8
� 8���� �?�� �
� =��
� 8��� ����
�� A����
� 8���
� 9�
� �����������
� ���9�
�� C� ����� 9�
�8��
� 9���
�
A����8�
���D0�
�����?
�������8��9�9�
��8����5��99������<��9��5��
�
�8
����=���
�9�<��5��
��=�����9�8��8��=��
0�
,�����9��� ������9�<��	��8��9������ �
�9�
����9�
������=
�������
�����������K��?����99
�5
�9��P
���95����
9���������������
�������������8��=����<����
�9��9
P���9G�������9=�����8����������
�8��P#��������
��
P0�

Page 12 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



*��������9G������9����=��9���9����
55���
�A����P�����8�����9��9
	����P��?��9�������=
�������
�����5��8
�����
����
��
����9�
���8���
��9��	
����K����
��������9����
9���
����9���
����������A������8�����5�<����=
<?��

����A�
���C�8�55������9��9
�����������������9���8���� ��<<�������8����9����8��9���������"�8�9��9���A���8�
8
��
� ������D���<��9��5��
�
��?���������
������
����9�
� P
� �D��
<�P�
��
�9�
��������9������D��
��?��9����
�������=�����<<����������5������
����9��9
	���������5
�9��������A�
������?
�9��������P������?�����
<���9�����8��
��
���5������
����
P0�
L�������?��C���=�����9������������
����9
������9��	
���D��8�����9�����C����9����99�����������8�"�������
9������������������8����8����������8������
��99����8����<�9��
����<���
==����������������8�9�
����
�?���9���8�� �Q����8�9��
	������
9��
�8���
55
9���
������=�=
����
� ������D��?����K�5
�9�����
5�9������
���
99
����
��
�8���������
�<����������
9���
������8��8�=����99������
�����?C��?��8��������8�����9���
���9�����������?��=��9��5��
����8�=����
����
�P9��8��
�
��������<���
P�9����
�5
������=��9��
�A�
����
P8��9����P��
������8���A�
9��
���<
�����
�8�5�����=��D0�
*�� ������� 8���
� �
�����
� �P#���� ��� �
��
P�� ���� �����8�� 9�<<������ �
� ������9����� 8�� ��� =�
<<���� P���

��
��
��8��=���P��
�������9����Q���
<����8�����������5
=���=����
�������8�0�
$Q�������
�����A������8��A��9����������
��A�
�������������������9��9���������
55��
��������8�=���������
��0�
,����?��8��������
99
<<���8���
����9�
�8��$��
�=
�����������99�������?�
�����9��
�������A�
����9��C�
8�����8���9��9��8���
���9�
�<�
�"�
�
$� 
����34� ���� ��� ������ ��� �����
����3� !�	��	� '� ��5� �	����� 
	��	� �����	3
	��6	� � 2���
�� 	����
������	3	���7�������������������	��������
�3�������������������5�����
	�
���	�3	����	������
���	�	��	��
�����3����� ����	�����'������	����	����	3
�� 2�	��	���	� ������������	32����������	����
	��6��������3	�
�������	����	��	��������3�������	����������	����	���	#�
�
&<<����?�����=�������8�������
��9����9��8
������	�����8�����
�	����9
<<��8��
�����������������5���9�����
9����9������� �����
���8
���<��9��5��
�
� �9����5���
��8�=�����������5
���� �������
� =�9�
�� ��� ������8�� $��
�
���9���������� �
����5������� 8����
���
8�	����� ������
��
�����
���9��
�����9����
� ���
<<���<������� �?��

���=��
���������������
�8�������������������D���
����9�
�8����
�
��(�<
�������/���
����3
�������������"�
�
����9�
��������5��������A�����
�����$��
����5�����8
��
���<����=��0�
�
+��9�����%������		��

��

��
��������%�����

��

��'�
��������
���������<����
������������
�=�
�����������
�=/�

�Q
�<��������?��=������
55����
��� C�A������8���Q����
�����8���8�������6�����9��=����
������ �
��
���

<����9�
��������8��
�A���9������	���
�
7����Q
��?������8������
��5����E(��<���������,�����
F�����?J�A�����
8���Q
		���
<
���<���8���
�	���
�
�������
0�
����9��8����9�����5����E(��<���������,�����
F���
���
�=��
���������
��
��8�
������������
����9����?����

����
�8�5���
����8��A����
���
��D������99�
����?��
�9�
�=���
���
����9����?���8��A����
���
��D�9���
����
<��8�����8�
==��
������������0�
����9
�����8���������9
�9�����
���
���<�������
�����8���8�������8���<<�������
�������
������E���8�	����F��
�?�� C� ��� �����99��� ����?
����9����� 9��� �
<���� ��
��
��� �O�� �����
��<�
5���N� 
�����������99��8�� �<<��
��������������8���99�������9���8��55�������
����
���
������<���������8�	�����?���R:��8�
����9��	
�8�=��9��
��=���
�������
���
����9����������������
���������?��8��9�����9��6���A��9�����������9������9
�8��
��
�
9��E����&�
�F70��
�Q
		���
<
���<��� C� ��
� 5�<��
� 8�� ���� ����8�
�
� ������
�� ����?J�� �����<�� �?�� ���� 9�
� ��� ���5�����
�<���
����8������
������<����8��?����
� C��������
�����8���8��������?���������8��8�=�����9�9����� 
��
�
��������	
�8������������?�����9���9������5��������8�	���
�������9�����<���N���9���
�����������
�9�
�
����
���9���
�8���
�9���
�8��9
��0�
��� 5���� 
� ����� ������ 5
� 9�� ����=
� 
���������� ��� 
���<<�
������ E
		���
<
���<���9��F� 
���� =
����
�
��<��������5�99���
�����<<������
����9��C���9������0�
*��<��8������
��
���A�
�8�� E���������
F� �
� ��<<�� C� 
99����
������ ��������?
����8�������8�����������
��
�
8���
������������
�������������<����
��������C���9���9
��������
�������8��8�����9������������
	�������
8�<����55�����8��A��9�Q��������A���8������8�=��9�����5��
�����8���8�=��
������ E<
���<���F��=��
�������H�

���I�

Page 13 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�Q
==��
��� ?
� ����� E��99���F� 8�5��8���� ��� 9��� �������� �� 
��?�� A���� 
� �
���� A�
��?�� �������
8�������<����� ��K� 5
��� �� ��K� 8���� ������ ��K� �?�� =������ 
��?�� ���?��8���� ����	��� ���� E8���9��
���
�����99�
������F��?�����9�����������5�������������C�E�����=����9����F0�
#��
���������
����?��9�����=
�
�8�=�����8�
�����
�����
8�����8���8��
���������=�����
���������<��
�
�8��
������8����������������
���H�9��
�����
��������������8��
�����
�	�
�������
���<
�����9�9���������=�<�������
8�9������ �?�� 9���9��� ��� ���8�	���
������ �9�����<���� 8��� ���9��
����� 6������9�� 8��� ������9�� 8���
���9��
����70� *�� 30�0�0� =����� ��� ������� �
��55
����� %��9
��� =���
� �� ������� =��9�� ��� �
99��� �Q(������
$�����
�����9��9
��?���
9��=�����6�99��8����������<����������������
��7���
�+
		���
�(55���
����������
�
���E<����������
F����0���9���
�C�8������
��=�8��	
��?��������
���������Q
�������������=������8���30�0�0��
9��COC�9�
�����
95���
���������
		���
<
���<��0�
.������9���8����8����
�����������������
������A�
8���8���
�<���9��8�����������8����<<���9�����E��������
8��
��
F��?��J�A�������5�99����9�
�68��8�9������
�9�
���
��9���
���?��9������5��
7��?��8�=��
������������
8���
���8����
���������������
������<����W�������8�
���������������8���
��
����
������<�D���������
�
� �
�
<��9��5��
	�����
��8�9
9������?�������H�8�����=������
�8�D�
���������0�
'�������9������8����������8��
��
�C�����
���8���Q�55�������<�9�
��=��8���������8��9����	�����=
���0�L��9����
�
8�55����	
�8���?����
���
�����
��
����6������������<����7������9����������
�8�����<�����8��A�������?��
�8�D�

8� E����
��
��F� ����Q��8��
�����N� ���� ���� 9���� ������ <��� 
����� 
� 8�=��9�� ��������
��� 8���
� 6��7
����
�������D����9���
����9
��8�
<�9���
��
������=�9��
��0�
������������
<���
		���
<
���<�������9���9
�����8�����5
����D�8��<����9���8��	
��?������5
����9�������

��
9�
�	
��
������=���������
����99��
����8�	�������<�9�
��=
000�
�������?��9�
�������������E��������8��

��
F0�
�
,
9A�
���#��
������

��
���
���9�?�����

��

���5
�����6��""
����������������
����

3���� ���
�� ���9������ ��� ��9�� ��
9���9�� 8
��Q�����
� �������
	����� ��8��
��
� 8��� ����	�
���� C� 9�
���
8��9�� 8�� 5
���� ����=
����� �
���� 8
� ��8����� 
8� ��
� 9�
� �8�	����� 9��
��8��
��
� 8�8��
�
� 
���� ���=��
8�9��9�	�����������
�8�����������
�����
	�����8��������
0�
*���
��8
�9����99�����
���
���8�=���������
����8���
�9�������������������5���
�8��������5�99������
8����� ���
�� =�<����� 8�9��9�	����� ��� ���
� 8�� �����5��
	����� ����<����
�� 8���Q��8
<���� 8���Q
������D�

������9��������9����8�����
������
���8�9��9�	�����9���������������=����8�����,��9����3��=�=����0��������
�����
����������
��
��9�<��	
�8���
������A�
���9
�9���������
�	�
���������������������8��
�9����<
���
�����9���	�������9��9
������������
���
����8�������5������8�������9�������
��=���?��9���������
�8
�9C��
�?�� �<��� <������ ��� �
9��
� ���� �
� <���
� 
� ��		Q
��
�� 9�9��9
� 9���
� ������� ������?�� �� �����8
����
����
�
��"��5
�-�����<�����
���>�
�
*����9��8��-����
������?
����K���<
�
����
�=�<��	
�8����Q
���
�����
��8������������9��C��
��
�������
�
�?���99
�8�=���99���
���� ���?����
�9����
��99����
==���
�����9����	��0������
��
�8����
�����
�����
�
��9��
��8���
���
�8�������<��
���?��?
�����9���8����8��
�����<���
�����Q��
�8��9����9���	����0�
$Q�9�
���9����
������������99
�����8��9������=��
99�9�����
��Q
�����8��
�������?������8�
�
������?
�
9�9���
����
�����	�
�8���
�8���9��������9
�8
��3��������A�
���9��9�����
��5�9�
����9����������8�99����8��
���=��9�������<����<����8��
��=�	�������A�
����
��
��<���
��8
��������������������9��8���9��
��
�9��
0�
'
����C�9�
���8�������?��A��������9�?���8���99������������=��C�8
==����������
���0�%
9���8��A��������8
���
�?���
�8
��
�
���8��
	�����8���Q��
�8��9����9���	�����C�9�
�
�
88��
�
�A�
���5�����8��<�
=���������������
�
� ��99������ =���
	����� 8��� 8������� 
��
� ��9��=
��		
N� �� ���� ��� ��99������ ��9�?��� �?��� �����		
�8�� �
���
��8��
	����������
�����8
��9������
��
��������
�
������D�������
��9�
�����9�������
����8������9������
�	��

��
55��
�������,�������8���
�#��������
N��������Q��������	
�8���5
�9�����������=������?���������
	�����8��
9����9���	��������������������8���9����9����������������
������8�55�����D�
�9����9���=�����9���9���8
�������
�������������Q��
���8��
�
0�$8�
����
�9�����<
�
��������?�����3��9�<�������
�����8��/��
���6���
�A������
8��.
����
��9�
7�?
����������8��8�=�����8�������9��8
<<����8
���������P���9����
���������9
�D�=��
������
5
=���=����
�A��9�
��8��	�
;P������9��9
������9���9���
���8
��
�9���
�	
�8����������9
������8���3��0�
*�5���������9��8�������?���
�8����
�
�8���9�����8
�����8�������������=������?�����5�����9����
���9������
������8�=��9����A���8����
��
<<�
��5��9������
���������5
���8���
�������?��8�=��9�0�
$Q�9�
������
������99��=
����?��9����
��
�8���O���
��������5��8��
��
�5�����
�8���?��9��
�6P�����9�������

��������9�8���P���P�����9�������
��������9�8���������A��P7��9�����A�
���5��9��9������=
���9�
���
���
������
�
� ���D� 8���Q���?��9���� 6�����
����7� =��9
��0� &�������� A��9�Q�����
� �?�� 8
==���� 9�� 5
���
� 
� ����
���8�=�8�����
�����������
�9�
�����
���9��������D���8�
��?��9������9��=�<��
����9�8��
���8���9��
�
��
�
��
����55��
��
�8���
�����
���9������
��5���������?��8�=������9��=����
�����
�����0�
�
/
� ��� A��9�
� =����8
� �
� ��
8�	���
��� �
�
��<
	����� 8�� 5
=���=���� �� �����
���� ������ 
8� �99����
��
8�	���
��������
99����
���� �����9�����������������8�������������
��������=��8��
� ��99
�65��88
7��
���
���
���
����
��5��9�������9
��=�������5��9����0�$99
���5
�������
���
�9���
�8�������
�65������<���

Page 14 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



���?��;7��8�������
�A�
���9��������95��	��8��
����	�����9�����9���
���<���������<�
9������
�9���
���
����
�
�������������
0������9���
�+�����8
�
�����<�
�8
���
=�99�����=����8��?����9�
����
�
�����
���9���
�
�������5�������
$Q���5
�����<���
�
���������������A���
������
���������9
������
��?��������H����
���9����	���?
������
���
���3���
��
���
���
	�����8��A��9�
�����
��<�D�
8���
�
�8
�A�
��?��3��9�<�������
�������
��?���
�����
3��9�<���� �
	���
��� 
=�=
� 8
��� 9�<���8�� =����� 5
��9�
0� $� A��9��� ����9�
���� ��� ��8����8��� <������
���9���
��� 
�� 3��<��99�� 8�� #�=
� 8��� +
�8
� �� ���
���� �9
��
������ �
� 9��99
� �����9�
� 5�99�� 9�
���
�����
�������99�����
�,���
��
�
��
�<
��
<<���
�	
�6
9����������9����9������70�
/������9����
�������������
���������H����
�C��
�.�
�3����9�8���,������������8�����
������
���8��A������
P�����������	����P��?���9������������8����8���<������
����=
���8
��3��<��99���9����9�
����
�8����A�
���
9���������8������������8���
�8�� ����� 
�����
	����0������
���H�����
������
���� C�9�
�
�8
�� 3����������

��������
����� �
� ���	����� ��� 
���� 8���
� 
==����
� ��8
<���� 8���
� =�����D�8����� �
����8�����
������ 
8�
����
�8������
�����?����5
������
����9�����������9��������9���8
��
�3����99�����,����������������������
��9���
����=
���8
��3���9�
��9����9������9����9����?��8
���	����������� �
	��	��	���	�'������������
�����
��	������	�
	������#�,9�
	���	�����	����:�#;#�<+��	��	���	�<=<>��#�<?=,@���	���	�	
	�	���	����	��	�
����������
	���������
���
����	� ��������� �
	��	�������	�
�����	
	�	��
������	��
�����
�	��	� �	������

	����������	������������	����������������� #@8�
$Q� ������� 
����
� �?��8��9�� ��9
� ���8
� ��� �
����� ��9G� P��<<���P� A�
�8�� 9�� ��
��
� 8�� ��8��
��� �Q��
� 8�
9����9���	������ �� ��9G�� ��9
����� A�
�8�� 9�� ��
��
� 8�� 
���9�
��� �Q
==������ ��9������ 8�� ��
� ��<��
�
8�������<��
0�$�������
��A��9�������������	�����
=������������
�
������P����	��9��P�6
<<����=���9
���
9��99�� 9�
� 8
�� ,��9�8����� �?�� 8
�� .���� ,��9�8����� ���� ����� 8�9���9�� 
� #�=
� 8��� +
�8
7�� ������� �

��8��
	�����8���Q��
�8��9����9���	��������9
���������=
0�
�
�
���9��9�
�C��
���
�������
55�8
�
�
���� ����������8�
��
�9��9������D�8���<����"����������������
��=��8��
5
���� ��
� A��9������ 9A��9��
������ �<<����=
�� 8�=���9�� �� 5��8
����
��� ������9����� 
8� �<����� �
�
����
�5�8��9����
�8���9��
	����������
��
0�
�����
����K�8�55��������������<
����?�� �Q��8��
	�����8���Q��
�8��9����9���	������9���������K���9��������
����9���������8������������
�9���
����������3��9�<������
�����9�����9�����������
����������9����8�������<����
8�������<��?���
�
��?����9���
�������8���
�9��99
���<<�����9�
������A����
�<
����������
�����������
�
� ��<
��		
	�����8�� �
=���� ������ ���9�����8�����8���
����5�99���
����?��9�������
�
�8��=����������
��
��8�������
9�
��0��Q��
�8��9����9���	�������9��
�9�������������8���
�������
�8�����
������������������9��9��
��
��
�9����8��A��9����8��
���������
�<����
�
�9�
����
�
���8����<<������
������
����������
���0����	
�����
=����� ���9�8��
��� �?�� �Q�����<�� 8�� ������
� ���� ��9���
� 
����
� �?�
�
������ 
55���
��� ��9������ 
����
9������������=
���
�������
��������?C�9����9G�����5�99���
=������8
==������9��
����������
0�
$8�
������
����8�55������9����
���������<
����?��A������8���
�A�
����D�����C�����������
����9C���
����
8�=���
�9�������5��	�����8��������������?��
����
� 
��
�A�
���D��8�
��
����9��
���D�8���
����9�
	�����
���
����"��
�����
���K��99�����
������
���9�
����
�A�
����D����9������9����������
���<
��		
	�����8��
��		����8�����9��
����?������
�������5���9������������
�����9
����������
�9����8
���
�A�
�������C�
���8�<�
������K��99����9�9������
�8
��=
�����8����
�9�������
��55���������
��
�������K�8����
������9
�
9����
����8���	��������=
��������
��
���9������
��Q�9�9�����0�
���9��
55���
�����5��	
�������C�9�
���5
��������=
�����8���
����9��
���D�8���
����9�
	��������
���������
8�=�� ����99
��
������ 8���=
��� �Q�9�<��	
� 8�� ��
� 9�
� A�
���D�� ��9������ 
��
� A�
��� �
� ��9��
	�����
�������<����A�
���
��=
�C�����9�����������
�	�
����8���
8�<�
��0��
���9��
55���
�����5��	
�������C�9�
���5
������?�� �
�A�
���D�8���
����9�
	��������
�����C� �Q�������=��8��

99����
��������D��
����
�8�=���
���9�����9���������=���������A�
���������<�����8���,����������
��
��
�5�

��9�9���	��������5���������<�
���
������<������������C���<�������A�
9���<���������8��=�9�
����������
���
9���
������� 9�� A������ ���	����� �?�� ��� 8�=�������� 
99����
��� �
� =���5��
�����DN� ������� ���� �Q��
� 8��
9����9���	�����9�� C����9
���
�8���9������
��8�99��
� �8���
���9
�����������8��
�8
� 
����
�5���
�8��
���=����=
����9���
	�����
���=�����8����9���������3����
��������9�
�������=�8��������9�9���	���<�
������
5����0�
��=���
��99��	�
����?��8��9���������?C�8��A��9�
�
������D���8��A��9������
<<���9��9�������������
��9���
�����
������
�	�
��������<
�����=����
8�
���������H����<�
�����������=�0��
�
,��=�
���
�8����
����
��?���Q��8��
	����������<
����
�8���Q��
�8��9����9���	�����8�<���
����
��
��������
��D�
������
��
��5�9�
	�����8�������<����9����
��
�����������
���9��
���������99����9�
������<��
��������
�
8����9����� �������
��� �8� ���������
�� �� ���� =����� �C� �9���99�� ������ 9��� 5����� ��H� �55��
��� �C�
���8�����9����
����9�����H�
�9���
��������9�<���	�0�
,��=�
��� 
�8�����?�� �99
� C�A���8������8�5���	�����A�
���9
��?�����9�����8��
��
�������<���9��9��	

�99�����8
==�����8������=���������
�9�����=�����8���?�� 
����		
� �
���<��	
�8�������<�����9��	
����K�
����8����9���
������9����������
�������?��A��������<�������8����9�9�
�	�
��������������0�
,��=�
��� 
� 8���� �?�� 9�� ��
��
� 8�� ��
� ���5���
� ����
	����� P�������
P�� �?�� ���=
� �
� 9�
� 9����9�� ������

����
��������9���8���?���8����
=�����
��5�9�
������=
�����8���8����
9�����������<�����,������������������
�Q�����<��8���Q��
�?
���=��
������9��8���8�����9�9���
�8������������8��A�
���D0��������0�
,��=�
���
�����������?��������A��9���C�9�
���5��9�������9
��=�������5��9����=������0�
3������ ��9�
� ��� 8�=����� 
��?Q�99�� <�D������8
���� 8�� ������9����� �
� ����
� 5�8�� 9���� 
� 8���9��
	�����
�����
��
0��
.�8���������Q�9��A��9����
��	��9�������9��=����
����������9��=�����9���8��������
�������8���8���5��9�0�
�
�=
�����/��8��
�

��
����J�

��

Page 15 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



���=�����=��"�����
���
	���*�����

��

+���0��������������
8�������	�
����8���
��
3���
<��
�8�����<������
�
,���������������8�	�����8����9�,��9�8�����9��9����
<<�
=
��0�������
��
���
�?
����9��
��?���Q��9��8���
���9�0��
���8�����?��
���
��
�����������
�����5��	������������9
�A����
�8��
99�������
��
��
�����
	�����000�8���
9��������9�0��
���Q������
� 
99�����
�����9�
���
==
�9��8������������������?�����?
���
9��99��
�9�<�����<�9������9���
���9����0��
*���9�,��9�8�����?
��������
���
<���
99���
����?���
�9���
==�9���A��9�
��������
�8������
��
���?
�5
�������
9��������0��
'���=
��� 8�� ���� 
=��� �
������ 
��?�� ����?C� ��� 9����
=
� 8�� �����8
��� �?�� ���� 
=�=
� �
��������
�
����������8�
�������<�����<
����9����	���
����9����������,��9�8������
	���
����
��A�
���C���<
���8
�
����
�
�����9���8
�
�
����	�
0��=�=
���
��?��5
������������
�����9�����
�3����0��
/
�����9�,��9�8�����68����
�7�C����9��
�9�?����
���?��=
�9������
��9�8���������K�?
��������
����
8����
�?������������8�=�������
�����A�
�8��C�9���5����0�/
�'����
������������������
����9��;�*������
�����;��
$� A���8��� P8���P� ��� �9�� 9�� 8����
��� ������� 5
���
����� 
� ��9�
� 
��
0� %
9�
� ���� A��9�
� �������
� P8Q�

��
���P��C���
�8���
99
���P
��Q�
��
���PI��
3���
���
�����������=���D�<����
������?C��
�<����
�C�������5��������������
��
���C��������8�������������
8�����0��
$�?
�������9���������
�������
��,��9�8�����8�������"�P
��'���9�<�
���9�
����������Q���5����0�,����8����
�
�5�����
�8�����
�����
���������=�����	��0P��
�Q�
99�����
�����9��
�����?������9�,��9�8����������
������?
�=�9���������5����8��<����
����?������
����
C�8�=������ �9������8���
��
����
��?
� 
������� 
��Q���
�����D� �
�9�
������9�
� ��?
�8
����
�8
��� 
��
�����
����9�����=��8��9�?���
������������0��
*��9����8��������
��Q���8����8���<��������<�
�8
=
��
�P������
P0��Q�����������������8��8�����=
�������
�
�
���
�����?
��������
����?�����,��9�8������������������?C�����8�������
�����5��	������?
���
����<�
�8��
����5�����������?��8
��
�������
�8���.9�����	�
�����9��������H����������H�9�����������H�
������
������?��
���
��
��?��8
��
� ������
�6
==
���8�9��
��Q������8�����
�����9��
�����8��9�9��<���8���
��
9����
7�8���
�
��9�
���<�������?��?
�95���
�����<������������������
���8�
�8��8����������99
<<��
��<��������?��?
����
�
�8
�������������������9��=���8�<���
��
99���
��������	����9���69����� �Q�
=������������A��9�������8�����
9��=�����
9��
������8���I70�����9�,��9�8��������=������?�����9��=�������Q�?
�<��99���?
�<�
8������������?
�
�9���99�����8�9�8�����8���9������������������8
�
99�<�
���
<���
������8�����<��������99
<<��9������8
�����
9��99����
�<���
�<�������8���
<<�����������99�0��
�Q� 
99�����
�� 
���<����8�� �
� �����9�
�8���,��9�8������ 
��Q���
�����D�?
�8������
���8��8���<
��� 
����
9��99�� �<��� ��H� 
���
� 5
����D� 
��Q� ����� ������������ A������ ������9�� 8�� 8������
��� ��� ,������� 8��
�����������
�<���
99���
�����5��8������99
���
����9������8������
��� �
�9����
�8����� 
�������
���?�� ��8��

99�<�
������������9��������
����H�������=��������������
�9�����9��8
�
�����<��8�	��0��
,
99
�8�� 
��Q� �9���	�����8���
�9���
����9
�8������
	���������,��9�8������8���� 
=���5
������
��
��8
�
�������
�����
���
��
��?
��9�����������,��������9�
��

���9��<����8�����
����
���������99
<<��
�9���<��8�	���
��H�P��8�<�9��P�8���Q����������9���
99�<�
�8�������
��=��������9��������9����8���Q��������8�����9�	�����
������
���A���8��9�<����0��
�7��$)*&�$��,&3��*''*3*��
.���������������-
���	���������������P��"������9�
�,
8�����?�
��?��=�<��
�8������
������000P��9��8�������
� �<���
����

������� �
������������D�8���Q������
	�������=���
�
��Q��������3��"� P�/��=���=��������.��
9�<������0�$�9��8�=�99����9������������������
�������������
����
��������������C���<�����������
�������
���������<����?�������
��
���
�
�<
9�8�����
�8�����
	���������
������9��
��0P��
�����9�
��������
���
��?�"��
�����<��,�8��������������99
<<���8
����8�9������������9��8�������� �<���
����

������� �Q���=������=��
�����������
�P����
����������9
�=
���������9���
�����������9����5�<���8
�������8��
99
����H�5�9���8��
A���������5���		
���8
�&�:��������! �PN��
�� &�
�� ���� ��� ��99
<<��� P�('�&#*'X� �*�$� �('&#*'�'$P�� 9��8���� ��� � � <���
��� �

��� ���� 
=���
�
��5�9�
���P
�����9�8�����,���������
��Q�������3��9�<�����9���8
����
Q�6�����
7�����A��9�
�=��
��������
�55�9
� 
�� ���
��
���� �?��?
� 9
�����5
�9����
��
��������9������ �9�9��99�"�9���9���������8��� 
��
� 9�
�
9�����99����P0�
�7��$)*&�$��*�&%%$�*$�'*��
.���������������$�������9���������P�Q�&#���*�3�*(�(#�P��9��8����������<���
����

��������99����9�
���
�Q����������
���8Q�*�
��
�
8�
=���
=����������
<<���8��8��?�
�
����������
������ �
�9�
������
����D�
��
�
���� �9������
� ����
� 8�������<��
"� P����� 9���
���� �?��� ���� A�
���� ��� ��<�
�8
� �� A�
���A��� ��99
�
�99���� �
���9�	�����8�����9������<
���8���
����9���
�	
����8��?��K� �Q���
�8���?��9��
�8���Q�
����������
A����
�8��9����9���	����0P��
����=��9����9�
���
����������
��0��
�7��$)*&�$��$,&#$�$�*�/�$�'#*�*��
���
�9
�8���Q����=
����������8�������
�����C�9�
���8���9��8��
��������������������
���9�
���<�������?���
����Q����
9���������������<�������5�99��
���8���9�����
�9�������C��
99
�
�����8�9��=�����
�8
��
����9��
�
8���5
����
�A����
�8��������9���0��
�7��$)*&�$��$,&#$�������$/$�*��
.����� ��� ������� ��� �
�8�8
��� ������ -��=��� �������� ��� A�
���� ����9�
���� 
=�99���� ����
��� 8��
�
<��
�<������ 000����9��=����9�
�8��
�8����8�������9����8����������������
�����9���8
����?
�P8�9��������P�

��
� ��9�
� �� A���8�� 
� 9��9��99��� ��
�9����������99���
����8����99
<<�����������8������ ��8
�8����9G�
8�<���D�
���
�
8�99�0��
�7��$)*&�$��$+*���'&#*��
���?��A��9��������������� �Q����=
����������8�������
������C�9�
���
����������
���9�
���<�������?������
���
9����� 8���
� ��
�
	����� 8��� �������� %��9
�����9�� ��
� 5�
���� �
<��� �� �������
	����� ���������� C�
�
99
�
������
�����=���		
�����������	
��8
��
�5
9��8���Q����������
	�����
�A����
�8���
������9�
�8��
��8�5��
�8���
�����
��?�������Q�C0��
�7��$)*&�$�$�3�'&�&+*3*��
,������
��
��
�����
�
�#��
���+��5
����������P����?���
�����
;����9���
���8��9����
P��9��8��������!�<���
���
�

�0��
�Q�
99�����
�?
�
=�������	���
���������&/*��*����

Page 16 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�
�9�8��
�C�9�
�
�9�����
�
����������&/*��*�����
*��=���
���C�9�
���9����9�������
����������&/*��*�����
+�
	���8���
����9���
�����=��
��9���
���D��
�����6�99���
	�������������������������	�
���7��
(��9���������
�����
#
55
����'�
�
���

��
����J�

��

�����6������	������4���������1�

��

3
�����8��
��
?�������������
������
�����
�������<�
�8��9���
��
��Q�����������	�
�����
8���
�3&/,�+�*���$���*+*��&�6����
������
����8���Q
���������?������
��<�
�8
=
�P������9�8�����
�<��
��P7����9�������K��99���������
�������
8��9�9��<�����8���
������
���9�������9
�����?��
����		�����������P=�����
5�����8
������P����
�������
��������<������?�����
�����
<�
���
9���
�������A�
�8��
99����A����
�=�9��������Q�������
�8������.���8����
����	�
����9������
�9���0�
#����<���?����������
�������<���P9�������������P��9����A���������<�
8���
8��5�������9������8����5��99�����=��
��8�
���������
�9���
�����������
����?C�����5��
��		
���
������������99��8���
������
���
<<���<��������
8���������=��8�����������
���������9��
��0�
��
�.���8���
�3&/,�+�*���$���*+*��&���?��
��?���
����
�����3����<?��
��
��=�������8�=�8�
�����
����9���
�����
���
�����9��9
�����������
��
�����
���������		����8��������
���8��P8��������
	����P������H��?���
9����
����������<�
9�
���6�
<
���������5�99����8����H��������
<<�����
5��A���	
"�9
����������<<����=��
�����?������������
��
��<���
I70�
�
9��
���
8�
����������������8��P�������������5
9��8����8����5
9��8��P��
8
��.�9���������=�������8���99����P��5
��������������
������
�9�����P���

���������
������8����<�9���8����<<��.�������������������
�.�������
���
<<������
�=�<��
�8���������
���9�����������
<<��������<��0�
���
���
�����
55�����9��
��������������������������������������������������������������������������������������+���
���

��
����-���8�
�8���

��

��&����������������������"��$�/��/��

L��9�����99
<<���C���=�����
�����
� �
�3���
<��
�8�����<������8�C�9���� �Q
���9�
	�����8��9���
��?�� �
�

Page 17 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



���=�=�����6�������9
�K���<����8�5����
�8
�����=��8������7�8�����=�9����3����<
�=����=��<�0�
��=�����
�	�������������������6�
��?����9���5�
��������������5
��
��
���
���A�
��?��9�<������������
9����7��?��A�
��?��P9�����
���
P�9��
���
��
���9�
�C�����������
����8���N�9��������
�����������9
��=����
8���=�9���������������?��
�=�����9����
��?���������000�=�9����?���
=������������������
���6��O�������
��
<�����������8����H�9��	
��99�������
���5�����I70�,��������
��
���8���5
�����?������������
����9�����������9��
8�8��
� 
���
� �� ������ 
� A��9�
� ���5�99������ �?�� 
�
� ����
������ ��H� 8���
� 9����9�����
�� �� �?�
����9�
�������������?
�����
<�
�
����A��9�
�5����
�A����8�
�
0������
��?����Q
��
99���
�
�8���������
�
�8�?�����������9��9��8���Q�����9��0�'�����A��9�����8�
�������9��
����
�����8������?
����
==����
�
�
�
=��N� 
9������9���������������9��D���=�9��������	�
�����?�����=�� ������
�������5
��
9����0�������8����

�������<��	
�9��
��8��
��
��=�=
��� 0000� �����
���?��
��<������8Q�<<��C���9
��������
�
N�9�����
���
��� �
�
�
	���	
� �� �
� ��9�
�	
� 8�� �������
��� ��� �
������ ����
���9�� 
��?�� ����� E=���� 5����� 8
�� ����F
9���
������� ����?C� �������� 
��
� =�9��
� ���5�99����� =�8�� �����
� ������9�
� �� ����5��<?�9���� ��99��
��9�����������
�5�<��
��?��8�=��9������
��
���������A�������?��5���8
��������
����?���
����9���
��������
�
��������=��D"� �
� ��<��
� C� �Q��8�=�8�
��9��� ����� �8� ��� ���5����� ����8�
��� �� ��99���������� 
����8
���0�
'��=����������K����������9�����5��9��
�����9���
������������?��5�
�=�������
��<���<����������������������
�
=�������9
���5��
�9��99����������������
55�������9
�����9���
��������?J�������K�5
���
������8���
=��
���
��������������8�0��
�����8���
���
���8�9��99��
�����������=���A�
���9
�8�����������
��?��8����H�����9�����
����8������9��
����
���������
�8��8�����
����
���������9����
�,��9
��0�$���������C�=�����?��9�����
����
������9�����9���
9����8������A�
������8��������
����6I7����5��9�������Q�����=���������
�8Q
���
��
����������5����������
���9���� 8�� 
���� ��=����� ����������
��� 5
� �
��
� 
� ������� �� =��� ��5
���� 5
��� �
��
� 
� ������� �?�� 
����
�
���5���9�����
<<��8������8���<�
�������<<���
����
��<���
��0�
/�� 
�<�����?�� �
���
���9������
�	
�9�
����9�8��
�
����������� P����������P�������=��� ��������8���
����
� ,��9���
	����� 8��� 9���� 8���
� 3���
<��
�� ����?J� A��9��� =����� �99���� 8
� �
���� ��
�� ���9��
�
����
��������9�����
������������99
�
�
�����8��8������
��
�����99��=
���8
���
����9�����=
������B
9����
��0�
����������8��
=��=��9��		��
����������
���������������
����8�8��
���
�����
	��������<�����6����<����������
�
���D7�8������
����?���
����9������
���� 
��?��9������
���8���
�����8
��������������9��������?�� ���
.�9����=���99��=
��������9��5�9������������8��8�=��9�0�-��9�����9�����8
==���0�
*��
���9
�8�����=�9���������9���������9�����
=����������������9����
��������
�=�<��
��
�<����
����������
�����5����9�����
�
N�
?��8�������
=���
55��
������
������?��������5����
���9��
==����
�I��
�����
��
,��W��=��8����8�9��99��8����8��E����
�5���?���
F�?�����=
���9��������=��
����
��?�����5
��9���������
�?���=�8����������9=��
�������=�9�����
�
�����9���?�N������K��9���
���
���8
���������
�����=�����<��8��
�������=��<�D���=��
���������
�����
��
�<�
�
�M����5
��9������<�
����
����0�
�
�����
�����
�

��

������
�������
7��5
����������
��������
�6>�

��

$�
��
��
��
���������--
�
����
��������
�������
��������
���
������
�����
����
��������
�

���������������B���/��##���/�/�

�
�
����/<��
�/�%%%<��F�������9<��/���F#F/�


6���#� *AA<�
	�� ��
��	� �����	� 
���������� �	� ����	��	��	� 
	�� ����	������ �	���� �	��� 
�� ���������� 
�
	��������	�
	��6����	����	����
�����	� ����	�����	� �6���������	���������������	��������	��%��	����������
����	�������������������	��������������5�
	��������	�������������� �������	�������������������
�������������
����	� �	�� ���������� 
	�� �	���� ��	� �������� ����������� 
������� ���	�����	��	� ���6	�	���� 	���������� ����
������������	����	��	�:����	����	������
���	����������
	�������	���@#�
B	�� ���	�	�� �	�� �����	���� ���� ���	��	����� ��� ����	�������	�:��	�� ��� �	���� 
	��6���#� *A9A�� �#� <� �#�#��
����������6	��������	�
	��6����	��@���6����	������������	��	������������
	���	�������	�	���������6	��������	�
:�������������	���	������2���	��	�	���	
������
�����
������	�����@#�
+��8
�
��8���������

���5
9�0�� ���0���0�
�
��������
�0�0�*�5��8
�
�C�
��?���
����9��
�8��=���
	�����8����5
�9
�
�����
	�����8�<���
���0��������0�����  ����
������0�0� �
�������8������������5
���������������?������
�9������9����
��
99��8��5�8���99����� ��8��
��
��
����
� �� A���8�� �� 8
�� ����������8���Q
���99�����D�8���Q�����<
	�����8��� 5�8���99������9������ 
� A����
� 8���
8��������<
�
��������������
������9�� C���9�
�����������
�8�<��� �55�����9���
�<
�
�	�
�8���=����������
8���
��
�9
��9�����=
�8���Q�����<
	�����<
�
����
�����
���
����
�9�����������5����8���
��080�P��=�=�9���	
�
8���
�<
�
�	�
P0�
#�������A��9�
�3������?���9
��
�������
�9�����	
�����<�
�
�?
��9���9��8���
���=�=�9���	
��
�����?C�9��
��
��������������
�9�������8��<
�
�	�
�5�8���99���
���8��
��
������C�����99
��
������8��<
�
�	�
����9�
�
�
8
����	�0�
�
���9��5
=���=����
��
���=�=�9���	
���9���
����8������
��5��8
�
�9���
����=�9�����8���Q
��0��  ���0�0���������
A�
���9�� �
��
�9
��9�����=
�8���Q�����<
	�����<
�
����
��C�8��?�
�
�
�����
� �� 
��������������9�99�9����
�Q�9���	���������C�9�
�
����9��=
�
��9����K������8����
����=
��9���	�������A��9�
�����8��<�
8��8
��
�
9�
�8
�
0�
������������?���
�������
���9�����9�
���
��9���99
���<��
����
	�����8���5��������8���
���=�=�9���	
��
��� 9�� ���� 8���
�
� ���� 9����5���� ��5��������� 
��
� 9��
� ������
�� =����� ���9�8��
�
� �9���99����� 8�� ���
���������� <����
���� =
��8�� 
��?�� ���� ��� 
����� <
�
�	��� ��
��� �� ���9��
���� �����A��� �� 8
� �?���A���
��9�������0�
�0�0��
���9��������K��99����
�����
0�
*�5
����� ���� �99��8�� �9
���� �?�� ��� ��������� ����
��=�� 8�� ��9�99�9���	
� 8���
� �
�9
� �9�����=

8���Q�����<
	����������		
�������
�����
�����9
����=
�����9�����9��9���
���������8��8
����������8����

Page 18 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�<��������9���?��8�������������������8�����������9���
�����
������8�������
�A�������
<���
���8
��
�������D�
6����?C��
����9�<��������9����	�����8��A�
�������
99
���8
��
����8������8������8�������
����=����������
8���Q�55�����9
��95
���=��8����
<
�����������55�������<
�����97������9����
��?���
�����
�8������
��Q
��0�
�  ���0�0�9
���9�
��55����=
�������������������8���
���=�=�9���	
�8���Q������
��C��?���
�8�9������
����=�9�
�
��99
� �99����
�����
�
� 
��8�=��9��
������8�����<
�
�	������9��
��0�.
����5
���������=
���9�������������
���5�����?�� �Q
��0��  ���0�0�9�� �����
� 
����=�8���� �
���99������D�8�������8���� 
8���
����=
��9���	�����
������
��
���?������8��<�
8���V������8
��
�9�
�8
�
��9���?C�����P��=�=�P��
�9��99
�<
�
�	�
���
����?��

99�9��=
�������8���� ���<��
��
��������
��
9�����
����=
�����
	������9�
������5��8
�
�9�����9��99��
�������69�������?��9�
�������
��9�9�����70�
*������� �6���#� *AA<��#�#� �����	����	����	��	�����	�������������������
	������������� ����	������	
����
�	�����������	��������������������=�9���������9������8��
�������	���������	��	���	����
	���������������
���	�	����
	������	���������������������������������������������	�����	�����6	��	�����	��
�������������5�
�	�	���	�	
���
����������������������������������5��
����9�
�8
���8
��
����9��	
�8��������8���������A���

99�9�����8
���
�A�
�9�=�<��
�<
�
�	�
0�
.
����5
������99��=
����?���Q
��0��  �������
��D�8�9������
�������9�<���	��8���9����99�=��=����������8�
��
��
�9
�8���9���	�����8���Q������
�����
�������
�����
����5
��B���������
�����������	���
�������
	
��7��
�������	������
�������������������
�����<����"���G��
����	���
��������������3<���	��
�
��� "���� ���� �������������������� ���5
� �
�����-�������
���
�����5
�������������������� �������
���
����	
��
����B
"
����
������"�<�����������������
����
��
/�
&
<���"
�
<��
��-����
	����������
�"
������������
�������
�6�?���
��9��9��8���Q
��0�� � ���0����0�0��
�������
� �Q�9���	����� 8���Q������
7�� �B����
��� ���� ��"�"
� �
�� ���-������ �
�� �
���� ���
�
������
���B
��������
� 6���	�� 8
������ �
���� ��2���
��
<� ��
������� ��� ������ ����
���"�7� ���� �
�
���9�8��
	�������?����9�����9����
��
����8���
�����
���?���	��
��������	��	�������������	��	������	����	�
�	� �6������� ������
������
��	�
	� �������	�������	�
	��6����	�����������
��	
�	������	������	������"� ���
A��9����
9��'��������������	��������������������	�9���
��
9��8�������������<��
������ �Q������
���=�=���V�
�����9���
�����������5������8���8�������� ��8���8
�������
�� ���5�<��
�8�9����������=
����������3�
��
��������
������������
���
������������������
����	
��
�C������56����	���
��������
�������
?/�
,���
���� �6���#�*AA<��#�#�� ���<��8
����9���������9���99�����8���������������<����
���8����=�=�9���	
�8�����
<
�
�	����?�������A��� 
99�9�������� ���8�������	����	�� �����	����������� 
	�� ����	��	���	����
	��
������������� ���	�	����
	���	�����������	���	���������6	��������	�
	��6����	���� ���
��	�
	����
	�� ������
��	� ���� ���	����� �� �	��� ��� ������������	� 
	��6	��������	� 
	���� ��	���� :�#
#� ����	�������	@�� ���
��������� �
	������	����	���	�
����������� �
	��6����	��#�
���9��99�� 
��0��  ���0�0�5
�9
�=
�����
������ �<���8�=��9
�8�9��9�	�����8�� ��<<����?������� C���99������
�����
���
���������9������8��
�����0�
�0�0�*�5
���� �Q����9�������������8��������=�=�9���	
�8�����<
�
�	���9�����=���������
�8�9��9�	�����8������

��Q
��0��������0�����0�0������
����
�8���������8���8���9�����55����
���
�5���������
�����8
��8������������
9��8��
���
����8��8���
��
�����9���<�
�9���8���� �Q
�����
	�����8���8���9����������
99
<<������<��8��
���8���
�
9�����	
��?�� ���8��?�
�
�=
��8���������8���������9������?�����8����������8�9��������������8���9������<���
������K���H���=��<��9��������������8���������8���5�8���99������C�=
���9��8������=���<���8�����<�����8�����
������?���?��<
�
���=
���������8���0�
Y� =���� �?�� �
� 8���
� ����
� ���� C� �����		
����� ��� =�
� 8�����
�� 
�� 5���� 8���
� �������
���
� ��� ���
� 8��
P��=�=�9���	
P�8�����<
�
�	��������?C��
����8��
�8�����<
�
�	���8
��
����8������8���������A��9����
9��C�
8
������8�����
��
������9�
�	
����
���9���������?������Q�����9��8���Q
��0��������0�����0�0�� �Q�����<
	�����
<
�
����
�C����
��8�5�����=
�������9����
�������55�����8���Q
==������8���9����
�����
��������=
��8
����
���� 9�99�9���8��� A���8��� ��Q�����9�� 8�� 9���
==����
� ��9�99�9���	
� 8���Q�9���	����� 8���Q�����<
	����0�
'���
=�
��
�����
����������8�<�����8��������=
����8���9�9���
0�
*�5
����������������� �55�����8��8���
�����
� ��������� 
99��	
�8����Q�9���99
�8�9��9�	������ �
�8������
�
�������� �?�� =
8
� �9���9�� ���� ��� ���8������� �?�� ?
� ���9������� 
�� ������� 8��� 8���9���� 
�����
��� ��
���=
��8
�����
���99������D�8���9�<�����Q
8����������8���8���������<��
����8
��8���������?��?
������
������
8���9���������?C�����
������������<
�������?���9�9��=
�5�
���8���9�<<�����C����
��8�5�����=
�������9������
�� �
����=
�8����K�C���9������
�8
��5
�����?�� �
�����
�����9
�������������8��9���� �
���99������D�8��5
��
=
��������<
�
�	������9�
���8
����	������9G�9
���9����Q�9���	�����8�5�����=
�8��A�
�9�
9����<�����������
�

��?��9�������99��8
����9��99��8���������8�9��9�	�����A��9�Q�����
��?�����=
�9���<
	�����9����9��9��

��������?���Q�����<
	�����<
�
����
�������=�=�������55�����8����������8���8���9���0�
�0�0�(�����������8��������9��9�����8�����9����
<<����8
�
����������0�
��	������� �Q
��0�������0�0��8���
���������
�8��8���<
	�������9�����99������8�
�������9�
���9����?���9��
�Q�����<
	�����
99���
�8
�����=��8��������=��9��������8������C�8��?�
�
�
�����
���
�����
�
��8�������8������

=�=
������
������8�����������<��
������Q�����<
	�����8��A��9�����=�=����
�������8������������K���HQ�=
���9��
8�����<
�
�	������9�
���8
����	���8������=�����9
����
��
����8��
�8�5�����=
0�
$<�
�����������������<��������
�8��8
�������9��������8�������
�8��
99�<�
	�����8�����������Q�9���	�����
5��	
�
� 
�9�88�95
	�����8������8�����������8����"�����
�����
�5
���9������6
��0���!���0�07�����
9��8��
�=�	�������8��=�	��8���
���9
���
95����
������������D���� ���<��8���Q���<��
��
����9�
	�����������99��8�9��
A��9�
��9����
�
�9�<�����8���Q�9���	�����8���
�8
�������9��������������8��������K��9�<�����Q
8����������
���<��
��
�������
������N�����
�9����8
� �Q
99�<�
�
������?�����8������ �=�	����� �
���9
� 
99�<�
�
<��
6
��0��!����0�07����?��9���9�
��Q
	�����8������	����������
���8���
���9
��������
99�<�
�
<�������5
=����8���
A�
���C���9�������
�9���9
����Q�A��=
���������8��
���8��������6
��0��!����0�07�����9��=
����9����
<�����
�������5������8���8���������9������
��0�
*������
�������
9�������
=�
��������8���������
9���9�9�
�	�
���������9�88�95
��������������8�����=����8���
�?��=
��5��
��� �Q�55����� �9�����=��8���Q�����<
	������ ������
�A��9�
�8�� �Q���<��
��
���9�	����� ���8�����

����Q
������8����
������� �����<
�������������8������������8��8�5�����=
������ ���<
�
�	������9�
���8
��
���	����?������<����
9��������=�=����6
��0���!����0�070�
�0�0�(���<�
�������������9����
��8
��Q���������
	�����8
�
�8
�A��9�
�3�����������
�8����=��
����
�8���
�
<
������
�����
�8���Q
��0�����050�����������9��C�����������?���
���=��
�8����
<
���������������8
��
5
����������Q
���� 
��������� 
��
�8��?�
�
	�����8��5
�������������5
���=�=���� �
�<
�
�	�
�5�8���99���
��?��

99�9��=
�������8���0�
*�� �����9���� A��9�
� 3����� ?
� 9�
������ �?�� �Q���9�9���	
�� ����Q��8��
������ ��=���9������ 8�� ��� ����������
<����
���8����=�=�9���	
�8�����<
�
�	�����
��������9��
��������
9��8����=�=�9���	
�8������8����
99�9������
�������
��?�� �Q�=����
���5�8���99���������9�
�
�
�<
�
�	�
�8��������8����6����
�9�������8������9�������
�
��
�����������5������8��� ��������9�
7� ���<��
��
������ �9��������8�
�����
<
������������=��
��� 

9�<�����8���
�8��?�
�
	�����8��5
���������8���8���������������99
���<�����
��������=�=�����
�
����
������

��
� ��=�=�9���	
� 8��� ���8����� 8
��?C� ��� ���������� 8�� 
���99�����D� 8���
� 5�8���99����� 68��� A�
��� 9����
�9���99��������8�9��9�	�����8������
<���
��0��!�!���!�����!����0�07�������
�9���
�����?��������Q�9���	�����
8����
��������������
������9�����
=�����
��?��A������
���99�������
�����
��?���?���9��������
�������

��
���=�=�9���	
�8����
��������������
���9��
�����
<�����������9�����8���
������8�����<
�
�	�
�63
990�
�
O��O�

��� �0� � ���N� ��� A��9��� 9��9�� 
��?�� ��� ������99���� �����8����� ��9�������� 8
� 3
990� ���
<���
����!� ���0�  ���?�������
8��9���8�����
���=�=�9���	
�8���Q�����<
	������
���
��
�8���Q
=
��
����

Page 19 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



����
9��8����=��
�8����
<
�������9�<�����8
��Q
=
��
��070�
�0�0�,�������������
<�����9�88�������������A��9�
�3�����8��8�=������8�=�8�����Q
99������?�������9�9�
����
���������� ��<����
���8����=�=�9���	
�8�����<
�
�	�����
��� �����9��
���� 
�����?C� �99��9�
������9�
���8
�
���	�� 6����� C� ����
� 9�������
� 8���
� 5�8���99����7�� ��� ������ ��� �����9�� ��� ���� ���� �
� 9���
==����
�
���9�9���	
�8����
��
�9
��9�����=
�8���Q�����<
	�������=�=���������
���9��Q���<��
�����
������������<
�����0�
*�� �
��� �
9��� ������� ��� =�
� 8�� ����������� ��� =���H� 8���
� ��<��
� 8���Q
���99�����D� 8���
� <
�
�	�
�
9�����
������� 
�����
�
��8�=���������9���?������ �Q���<��
��
� �����<
	�������=�=���� 
��?�� ���<
�
�	���
�?���Q
99�9������9�����9�
���8
����9��99��8��������6�������A�
����A���8����9�9����
�P��=�=�9���	
P7��8�=��
����������� 
55���
�9�� �
� ��<��
� ����9�
� ���� ��K��?�� ��������� ��� <
�
�	������9�
��� 8
� ���	��6�����
9�����������
9��8��5�8���99�������8��
��
7��8�����A�
���������8������������K���H�
==
���9�����������A�
����
A���8��������9�9����
�P��=�=�9���	
P0�
�0�0�
6	��������	�
	�����	������	����
	���������������	���	������
����	�����������
	�������	���������������
�	�	���	�
�� �	��	����
	�� ��������� �����
����� �?��������
�8��5�8���99��������=
���9����������� 8�9��9���
8���Q
��0��!����0�0��8
��A�
�������<�� �
�9����
�8��� ��<�9�
�����8���=��
�������������
�9��8������9�
���8��
�������		
���	���	��6��������	����
	��������������������	�	�����	��	������
	������	��	
����������	
�������
�
� ���� ���	��	����� 	��	�
�� ��
	���������	��	� �	����� ���	� ���	�
	� 
�� ��� �
	����	���� :2�	����

	��6�������������������	@����	�	�����������	��	�����'� ������
��
������������	�	���	� �	��������
6������
����������������	������	
�	�	�����������������������#�
��������
�
�
����/<��
�/�%%%<�����������<��/��9HH!/�
$�������
	������#�*AA<��#�#�� ������	�����	�'��	������	������	������
	��������	�������	����7�	��	�	�
������	��	��������������������������
���	������	������	��	��������������������������
��	����C��	�������
��
��	��	��������������
��������C�����'�	������#�
+��9�0���=0���

���*���
���
�
�.&�+*/$�'&��$��,#&3$��&�
�7�/
����3
=
��
��������! ��9�����K������
�%
��
��
	���
���8����
=��������	�����
������
�8��3��8����
-��8�
��������������
����8��������5��8�
����<
�
������8
�������
�9�������������5��8�0�
,���?J� ��� 3
=
��
��� ��
� ���
9��� ����9�� ���� �
<
������ 8�� 
������ 9���9��
���D�� �
� %
��
� ���	�K� ��
�����8�������8���9���	�����5��	
�
��������9��8���A�
������8���������9����
����?��9���
����=��9�����8���
��<���
�������
��
�A�
���5��
���99���������==�8�������8���<��8����8���B�9���	����0�
������
<
������8��A�
������8��
�������B��8��
�	
�8�����=��9���������<��8����8���B�9���	�����8�9��9���
�
�
�����
	�����8�����<���
��������8���B������
��8���������8��������9�����=�����9�<�G������B
99�<�
	�����
8���
�9���
�=��9
�
������99��8�������=������
��������8�����0�
�
�%
��
������9����
�9�����8������9�	�������������B��8��
�	
�8���
�����
	�����8���B������
�����A�
������
������99
��� A��9��� <��8�	���� �8� ��� �Z� 
<�9��� �!  � �9���99�� ���=
� ������
� 9���
� �
9�� 8���B���<��
����
�����
����8�������0�
�7�/
����3
=
��
����������
���A��9��������8������?
����=���������<��8�	���8
=
����
��������
���8��#��
�
�
�%
��
��
	���
���8����
=��������
����8�����
	�����8�������
<<����! !0�
�B
������������
����
	������?
��?��9����B
���<�����������
��B
������8�����9�<������������9����"�
�� 
�����
�9�� �?�� ���� �����99�� �9�����=�� ������9�9�� 8
=
���� 
�� ������
��� 8�� &�=������ ��� <��8����
8���B�9���	����� 
=�=
� 8�������
��� �B
�����
��� 8��� �������� 8������ ���� ���5������ 8��� ���8������
��<���
���N�
�� 8��?�
�
�9�� �?�� �
��� 
�����
������ ����8�=
� �<��� 8�=��9
� 8�������
	����� 8��� ���8���� 8
� �
���
8���B�9��������
��
���N�
��
�����
�9���?���
�%
��
�����
=�=
���8��
����B�=����
�����9�8������8�����
���
���9����99�=
�����N�
�� 
�����
�9�� �?�� �
� %
��
� 
=�=
� ���==�8����� ���� ����
� <�
=��� 
��
� ���=
� �9���	����� 8���B������
��
����9�
�����B�9���	����������
==������
8�����������8���B�����<
	����N�
����8������B������
�
��9��9��8���B
��0�������	������
��8����0,0#0��0��O�������A�
����������8����<
�
������
��
���5��������8�����������A���������9������ 
�����8�������<��
���������55�����8�<��� �9�<������
<
��������
��9����<�����B������
�
�����
�8���B
��0����A�
��������
��8��8�����8������N�
�� 
�����
�9�� �� 8
�����?�� �<��� 
=�=
� 9������ �� �������
=
� 
� 9������ ���� ���� ������ 8�9������ 8��� �����
������
�����������������������������
�����8�����
��
���N�
�����8
��
����
�%
��
�
����9
���������8���8
����9�����0�
�
� %
��
� �
	���
��� 8��� �
=���� 9�� C� ��9������
� ��� <��8�	��� �8� ?
� �����9�
��� ��� 5��8
������ 8�����
8��
�8�0�
�7�*��'�����
��������9�����	
��?
���<���
������8��
�8�0�
*��������
���?
���������"��?��������==�8������������������<��8����8���B�9���	�����
����������8��������
��
�
���=��9�����8�����<���
������C����
�����9�����=������A�
���?
��55��
��
���8������99�
������������8����
�55�����5�����8���
������8��
�������
	����� 
��
�A�
��� C�9�
���
8���
��N��?����� 
�����
���������9�8��8��
���=��9�����������K�
=�����55��
��
�������9�=
�8������������
�����
������8�����9�8������8����8���=
����
8
��������N��?�������
9�����������������
���9�
���5�������<�������������8�����
����9��������������������
����
����=����8�����8�����������8
���D�8���
�����������<
���
��5����8���
����=��9����N��?���
����=��9�����
8�����<���
�������������
��
������
	�����8�������9����<���
������������
��
�����
	�����8�����������?��
��K��99������8��
�
�9����8�����B�9���	�����8������8����
�<
�
�	�
�8���A�
����99��9����9�
����9������N��?��
�
����=
��9���	�����8���B������
�������
�����<�����
�����A�
���� �
�%
��
�8�9����=
�8������������������
�
=
��8�N� �?�� �
� 5��8
��		
� 8����� 8��
�8�� 8�� ��8�	����� �� ��9���	����� 8���B������
� ���� ����=
� �99����
=
���
�
������
��
�	
�8������������8��������� �B��
�
	�����8�����������������?��9��N��?��8�=�=
���
�99������<���
��� �
����?��9�
�8����9
���������8���8
��������
������������=
�������
� �����9�99�9���	
��8�
�����D�� ����?J� ���� ��
��� ����9�� ���==�8������� ����<������� 8���
� �
��
�� �� �
� 8��
�8
� =���
�

��B
�����
������ 8���
� ������D� 8���B�9���	����� ������
��
� ����?J�� 
�� 8�� �D� 8���
� �
��
�	
� 8�� ��9�������
8�������
����������
���9�
��������99������������������	�
��=��
����9�����8��
�����
����B
99����
�5
�9��D�
8���
������9�
�
�9����9���	����0�
�7� �
� 8���9����� C� 9�
�
� ����<�
�
� 8
�� 3
=
��
���� ��� A�
��� 9�� C� �
����
��� 8��� 9�<������ 5
���"� �?��
������
��������
�9�
�������������?��
������8������������<��
����������8������������
�������=
�����8�
��
���9�
��������
���8
��B
�����N��?��������
�9�
�
�����=
�
��B
55���
	�����8���
����9�9���	
�8������8����
8���
� %
��
N� �?�� �
� ���=
� �9���	����� ������
��
� ���� ��
� ��<�����
N� �?�� �
� 8��
�8
� 8�� ��8�	�����
8���B������
�8�=�=
��99����
�����
0�
�
�3�����8��
�������8��#��
������9�����	
�8��������������!!���?
����5���
��� �
�9�����	
�8��������
<�
8�0�
�7� ,��� �
� �
99
	����� 8�� A��9�
� 9�����	
� /
���� 3
=
��
��� ?
� �����9��� �����9�� 
������
��� ��� A�
�����
����=�������9��
�������������
0�
#�9�9������������������9���
�90�0
0�%
��
��
	���
���8����
=���0�
/&'*.*��$�����$3*�*&�$�

Page 20 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



�7�*������������=��8��������9�� C� ��=����� �����������
���8���
� 9�����	
��������A�
��� C� 9�
�
��������
�
��<�����
��
����=
��9���	�����8���B������
0�
�
�3�����8��
�������C�<����
�
�A��9�
�������9���������=
�8�"��?���
�%
��
�
=�=
�8���9��
����B�9�9���	
�
8�� ��� �������� ��9�8��� ���8���� 
��?�� 8���� ��� �
<
������ 8����� 9����� ��8��
��� ����B��8��
�	
� 8��
���=��9�����8�����<���
�����N��?�� �
�8��
8��	
�8�������5�����8���������������
=�=
��������
��� �
�
��99
	����� 8���B�55��
��
� 8��� �����
���� 8�� �����N� �?�� �B��8��
�	
� 8�� �
�����
	����� 8���
� �����8�����
������
�����������8�=
��
�����9����	�����8���=�������������
����
��9��9��8���B
��0��  ����80���=0�
*�������������
88����
�
��
�8���9��������=�	���8�����99
�����=
	�����9��������8���9�=��8���
�������=��9�
�
�� 9�9������ �?�� �
� 3����� 8�� 
������� ���� ?
� 8
��� ��9��9�
� 
�� A��9���� 8��� 9�� 8���� �
� �
�����
	�����
8���B������
�8�9��9�
�8
��<��8����8���B�9���	�����������8��������K��9���=������
����=
�������
�9���
��
9��
8���������� ���<��
����9��	
��?��=��9�
�������==�8��������8�5�����=�����
99
������<��8��
����8����=��

8���B��8��
�	
��?��?
�8�9��9����
��
�����
	�����8���B������
0�
*������=������C�5��8
��0�
�0�0�����9�9���
�=�<������
��
�����
	�����8���B������
���K�
==����������5
����=�����
������
99��9��8���
���8����������K��99����
��?����8��
�
�8
��<��8���0�
*�� A��9��� 9����8�� �
9�� ��� ���==�8������� <��8�	�
��� ���� 8�=�� �99���� 9���� �9�����=��� �
� 
��?�
8�5�����=�0�
3�K�=����8�����?���
����A�
�8���B��8����8���
�����
	�����C����������������B��8��
�	
�������C�
��
8���
����
�5
���9�������?��������99
�6��
��?��������8������7��B��8��
�	
�6�����8������7�����8��������99����
��H�����<�
�����������
�
����0�
�0�0��
�3�����8������������
��
�8�����9����8������=��8���B
��������?
�8��?�
�
����?���B��8��
�	
������
�
A�
���5��8�9��9�
� �
��
�����
	�����8���B������
� ��
�8�=���
�
�8�5�����=
� P���� �
��
��
�
������9�	����
8���B����9�	�����
<���
�����9�����=�P����?����K����9����=
�P8�������8����
��
��
�����
	�����8���B������
P0�
�B
55���
	�����8���<��8����8��������������C������9�
�
����A��9�
�9�8�0�
,���
��������������������=�	����?�� �
�9�����	
�����<�
�
�����9��C���������
�
�9���
��
��
�	
�8����
���==�8�������� 8�5�����=�� �� �
99
��� ��� <��8��
���� 8�� ��=��
� 8���B��8��
�	
� �?�� 
=�=
� 8�9��9��� �
�
�
�����
	�����8���B������
0�
�0�0� 3��� ��� 9����8�� ����=�� C� 8������
�
�=���
	����� �� 5
�9
� 
�����
	�����8���B
��0� ��� 8��� �0,0#0� ��
<���
����!����0��0�
�
����9��
�9����5���9���
��������8���
�8���9�������������
�3�����8��
�������?
�
55���
�����������������?�����
�
�������8��������5��8�
��������9�� �9���<������� �55�����8���
�8��?�
�
	�����8�������
����8��=����9�

==
�����8���
���
�9��
���9�����=
��9���99
�8������
��B
��0��!�8����080������<�����!
���0����������8��
�5����

� A�
�8�� ��� ����
�
���� ���� 
8������ �����
������ ��� �������� �����<
	����� ������9
� A����
� 8���
�
<
������8�<���������99�0�
*�������������9�9�����"��?����������
������
���9�����
�9�<�����8���B
	������9�����=
����A���8�����������=

�99���������		
��� ����� ������� �8����� 
� 5��8
��� ��
� ���=
��9���	����� ������
��
N� �?��� ������ 
� A����
�
����
�
� 8
��B
����8�� ���������� 
	���
�
���� 9�8�� �9�����=
� �� 8�=���
�
� �<<�����8���
� ���=��9����� 8���
��<���
��������99��B
���
�9���
�����=
��99�����?��9�
��
��������8���
���
�����������99�0�
�
�<��9��5��
	�����8���B
99�����C���
��
�8
��5
�����?���
����?��9�
�8���B�����
�9���
����9�8���9�����=
�9��
��<<�=
���������9���
����8�	������?���������
����8����������������9��5�
�����
����9����
�����9�����
��9��9��
8���B
��0� �!� 8��� �080� ��� ��<���� �!
�� �0� ���� ���?�
�
��� ����B
���� 8�� ��������� �� �?�� ���� ��
� 9�
���
���9�8��
��� �������� �?�� �B
��0� �!� C� 9�
���9�9�������� 8
��B
��0� ��� 8��� �0,0#0� ��� <���
��� �!����0� ��
9����8�����A�
�������
�������8�����8����5��8�
�����������9�<���8�����B���	���8���B�9���	�����5��	
�
�����
���5������ 8��� ����
�
���� ��
8��������� ��� A�
���� �
��� 
���� ���=��
� �
� ��9���	����� 
����
���
� 8���
�����
����8��������
��9��9��8���B
��0�������0�0�9���
��
9��8���
�8��?�
�
	�����8������8������8��
==
���9��
8���
���
�9��
���9�����=
��9���99
0�
��������A��9�������=��C�5��8
��0�
�0�0�����
�<����9���8��	
�8��A��9�
�3�����C�9�
���<�D�������
����������������9����8�����A�
�������
�������
8�� ������ �����99�� ��� �
9�� 
���� 8�9��9�	����� 9��� ���8���� 5��8�
���� ���� 9�� �9���<��� ���� �55����� 8���
�
8��?�
�
	�����8���B�9�����������
����8��=����9��
==
�����8���
����8�	�������9�����=
����=�9�
�8
��B
��0��!�
8���#0�0������<�����!
���0����������8��
�5����
������������������������
�
����
8�������������
������
��� �������� �����<
	������ ���� �
� ���9�<���	
� �?�� 8��
���� �
��� �����8�� <��� ������99�� ���=��	���
����

�����?J����=����������������99��8�� ���
�� �������
��� 
� 8��������� 
�� �
99�� �
������"� 3
990� �
� 
������
�!!����0�����0�
*������������8���=
�8
��
���
�
�������
�8���B
��0����8���80�0�0����<���
����!����0����9����8�����A�
���P
��
�����
���� 8�� ���8���� 5��8�
��
� 9�� �����8�� 
���9�
� �
� ���8�	����� ��9�����=
� ���� ��� �
9�� 8�� ���
�8
��
�
<
������ 
��?�� 8�� ��
� 9��
� �
���� 8��� ���8���� 9�
8���� �� �B����� ��K� �?��8���� �9�����=
������ ���
�
<
����������<�
���8���<���9���
�
8��99��8�=��
P0�
�
�9��99
�8�9��9�	�����5�<��
=
�
��?������B
��0��!�8����0��8���
� ��<<��9������8����5��8�
����������8���
�!
��� ��� A�
��� 8�9����=
� �?�� P���� �����
���� 8�� ���8���� 5��8�
��
� �����8�9�� 9�����
�
� �
� ���8�	�����
��9�����=
�����
9��8�����
�8
����
<
������
��?��8����
�9��
��
����8������8����9�
8���N����B�9���������K�
���?��8�����9�����=
����������
<
����������<�
���8���<���9���
�
8��99��8�=��
P0�
�0�0��
�3�����8��
�������9��C�������
�
�
�A��9�����������������
��
�����������?
�����������?������
�������
����9����
��9�����������55�����8���
���
�9��
���9�����=
��9���99
����?������
��=
����8�������8���
�%
��
�8��
5
��=
�������������
����8������������<���������99���?��5�
��
������
����
���
��0�
�
� ������9����� 8��� <��8���� 8��� �������� ��� 8�5�����=
�� 9�� 9����
�� 
���� ������?�� ��99�� ���� ��� ����=��
�9
���
��0�
�7�3���������	������=��C�8������
�
�=���
	�������5
�9
�
�����
	�����8���B
��0��  ����80���=0�5
�9
��O��
�����
88������
�����=
	����������������������8���9�=��8���
�������=��9�
0�
�
����9��
�C���=���
������������
���8���
�9�����	
��������A�
��� �
�3�����8��
�������?
�����������?�� �
�
����9����	�����8���=�������������
������
�5��8
�
�����
9��
��8�9��9���8���B
��0��  ����80���=0�
*�������������9�9�������?�����
�=���
����8���
9�� �
��
�����
	�����8���B������
�� ����������
���������

<��8�	�
�����������
��
���=
��8��D��8����55��
��
�8���B�9���	����������?J�A��9�
���99
��99����������
�
0�
�����8�����������������
�3�����
=������8�=�������9�8��
����?���B��8��
�	
�8���
�����
	�����8���B������

��������
�
�8
��<��8����8���B�9���	�����������
���8�5��
���������=��
�����������������?���9���
==����
�
�
���9���	�����8��������
����8����������
����=
��9���	�����������
��
���������=
��99�����������
0�
*������=��������K��99����
������0�
�0�0� �B
��0� �  ����80� ��=0� 9�� ��5���9��� 
��B�����9�� ��� ����� 9����99�=
������ 
�� =���5��
�9��8�� ��
� �
�9
�
�9�����=
�8���B������
����9������B��9�9���	
����B��=
��8��D�8��8���
��
�9
��������C�8��?�
�
�
�����
��
��������
�
5
��
�8
�����8������
��B������
0�
B����7����	�	�	�����	�'����������	�����
�����
�����������	� ���������������	����	�������	�	����� �
	��	�
����	� 	�������	� 
	�������	���� ������D� ��� 8������ �	���8� '� �������� ��� ����	� �	� �������	��	� 
�� 	��������	

	�������	��#�
.���5��
��9����
�8��A��9��������9�
�	������9���
	�������99������9�������9�<�����"�
����� �������	�
����
���� �
�
����������
���������
�
��������
������� ����

����
�����
��
����

--��������
�������"����������������������
�������
����������
�������
����������������
��������

Page 21 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...



��
[*�8�����\��

������-�����"�I�
����������������	�
�������������	�
������
�
����������

��
�������

���������������
�����
��������
������ ���
� ����������	�
���� ���� ������� ��
�����
�� �����

�� �
�� ��� ��
�
� ����
� �	����
��	������	��	���������������	��������������	������	����	��	����
�������� #�
�0�0��
�9����8
�9���
	�����9��C�=���5��
�
�����
�5
���9�������?��9��9�
��9
���
�8�����
�3�����8��
��������
�������
�������?
�8��?�
�
����?���
����=
��9���	�������
���<�����
0�
�
� ��<�������D�8���
����=
��9���	�����8���=
=
�8
��5
�����?������������<��9��5��
��=��8���B������
�6���C����
�����
���� 8�� �����7� ���� 9�� ��
� �9������ ����� 9�� C� 
=���� ��8�� 8�� ����=
��� ��
��
�8�� 8��� ����=��
�����8����0�
�7�3������A�
��������=��C�8������
�
����99
��O�������
88������
�����=
	���������
����������8���9�=��
8���
�������=��9�
0�
�
����9��
�9����5���9���
���
��
���
���<��������8���
�8��
�8
�8����8�	�����8���B������
0�
�
�3�����8��
�������C�<����
�
�A��9�
�������9���������=
�8���?�����8��������
=������8�=����8���9��
���
8��
=�����
<
���
���������A������8���8���������<��
�������?���
������=
�������
�9�
�
�8
�
0�
*�� ����������� ������
� �
� 8���9����� �� 9�9������ �?�� 
=�=
� ��<��
������� 
8�������� 
��B��8��
�	
� 8��
���=��9�����8�����<���
��������������
�
�8
��+��8����8���B�9���	������8���9��
�8��A�
����<��� ��
�
���?��9��"����9��
�8�����99
��������
88������
�����=
	�����9�����������8���9�=��8���
�������=��9�
0�
*������=������C�5��8
��0�
�0�0� �
� ���9��
�� ��5
����� ��9�9��� 
��B
�����
������� ���� �������������� 9��8
�
����� ��� A��9�
� 9�8�� 8��
��<�������D��8���5
�����?�����3
=
��
�������
=�=
�8���9��
����B
==�������
<
������8��
���������A������
8���8���������<��
���0�
�7�3�����9�=
���������������9��8�=���99������<���
��0�
���9��9��8���<��8�	���<�
=
���9�������������0�
,$#�L($�'*�/&'*.*�
�
� 3�������<���
���������9�� �����8
��
��������������� 
�� ������9��8�����9��9��8��A��9���<��8�	�����?��
��A��8
�����0����0�

������������
�����A��8
��������������������0�
�
�
+
��
���,��������

�
���8
R����T
��
�R��

!
]��

!�3���
<��
�8�����<�����

T����
I����9�5�:
�������������
9��
���9����������	
�+�(O+,�0�
�

Page 22 of 22Compagnia del Sigillo

24/01/2009http://www.compagniadelsigillo.it/index.php?option=com_content&task=view&id=3...


